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Time : 3 Hours A Marks : 200
Instructions :

(i) Each question carries one mark.

(2 L{o"é‘léo ¥ éy’dozr o do.

(i1) Choose the correct or most appropriate answer from the given options to the following
questions and darken, with blue/black ball point pen the corresponding digit 1, 2, 3 or 4
in the circle pertaining to the question number concerned in the OMR Answer Sheet,
separately supplied to you.

BMD RIS (98 L‘o’aégﬁo ’aés &5 o8¢t DO S DI eI HBNd Q?Sogﬁ”@ TR
$r00T 08 1, 2, 3 B8 4 T ad)d OMR 125760 HES0S® (HH)& D0 060D
Sopg do DL r/erE wrd rowod D) DTHrA0D J0dHTDo.

1. What least number must be added to 2000 to get a number exactly divisible by 19 ?

2000 Dopgd O ©8 D) Dompgd EOVIS Dy Dowg 19 JE IdFyu oo
A0S 80d0?

(1) 14 2) 5 3) 1 4) 3

2. A DWACRA woman wants to make candles out of a wax block of dimensions 60 cm,
35 cm, and 22 cms. The number of cylindrical candles that can be made with diameter
7 cms and height 4 cms is (Take w = 22/7)
¥ &g (S° S0 60 200.095 35 0.0 500050 22 0.0 @;6; §o$62693§5 §'°5°Se§_o°©o
Boﬁwsec‘éog"c‘é‘l&, 7 %0.000 wsfoéw $26050 4 00.0© o)é_%gs & 0380 Boﬁog(ﬂ@ﬁé
Qrrsrdy) §'FiEe Dowg (T = 22/7e9 3%o8%08 )
(1) 75 (2) 150 (3) 300 (4) 400

3. Find the greatest of the following numbers
S (8o ?oo&ps@eﬁ“g ©8 G DVopg EIHBIdw

V5 -3, N7 -5, o -7, V1149
(D) J5-43 2) J7-45 3) V11-49 @ Jo-7

4. Five bells begin to toll together and they toll at intervals of 6, 5, 7, 10 and 12 seconds
respectively. How many times they toll together in one hour excluding the one at the start ?

5 okeo 2TIO (Brddo Boden Déron. & Jovow &L 6, 5, 7, 10 H08d»
12 'ioéogé §’°§2)_©°8 (Boriodo. JEEI0  (Bradd Bé&:‘w%&ow %08, ¥ Ko
BH005008° @ @bl Q?Oli)”go EOD (Brodo?

(1) 7 2) 8 3) 9 4) 10
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5. In a mixture of milk and water of 40 litres water is 5%. The amount of water (in litres) to
be added to this mixture so as to make water 10% is
P, ?5@;50@ O3 40 g)cbg Do@féooé% A% 5%. A8 FSo 10% @Gﬁogc}go 8085°Q),
2’3@9’0@ S8 QFdr08 Eoroo®, $0rdoDd A8 Hodrmo (é)éagé%)

1 1 2 1
(1) Sy @ 33 3 25 4 6

6. The number of integers which are not perfect squares between 16> and 172 is
167 %0050 177 S0y HOUrg $gsne 53 drgrosto Howg
(1) 32 (2) 33 (3) 34 (4) 28

7. The difference between the compound interest and simple interest on a certain sum at 10%
per annum for 2 years is Rs. 631. The sum is

(1) Rs. 63,000 (2) Rs. 63,100  (3) Rs. 63,500  (4) Rs. 63,600

§°0¢8 @‘éw&? oo 10% THYPS Tody DoHE oo H 5L§é§ H08 %0 e
$do 0gg Blo Sr. 63l » Indo FBwy

(1) &x. 63,000 (2) &x. 63,100  (3) &> 63,500  (4) &. 63,600

8. If an amount of Rs. 80,000/- was kept in a bank for a compound interest at the rate of 10%
per year to get an interest of Rs. 16,800/, then the amount was in the bank for a period of
(1) 1% years (2) 2 years (3) 2% years (4) 3 years
wdey . 80,000/- oD Jrend 10% 15L§é(§ Ten&® . 16,800 zéczg STy ¥
rgoHS Go0VE & LI WrgoHS® $oDE SODONY
(1) 12 dodEyoren (2) 2 dodgyoren (3) 2)2 Doddyoren (4) 3 vodEyoren

9. A person gives a loan of Rs. 50,000 at a rate of 8% per annum simple interest for 2 years
and another Rs. 50,000 at the same rate compounded annually for 2 years. After 2 years the
difference in the amount he gets back is

a8 g8 . 50,0008 8% rorde é%% 2 Jodgyorod Smont awE)dy B0 dbw
$:68° 8. 50,0000 ©T Tood Feodd SEIRE 2 Jodyored awydk. Boﬁg‘é@
gShard ©dI8 804 T Bozod® Fdo

(1) 300 2) 320 3) 360 (4) 380
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10. Match the following

A sum of money is lent at simple interest. Then the money gets doubled if

Rate of interest No. of years
(1) 16%% (a) 12%
(i) 20% (b) 6
(i11) 8% (c) 5

Bod A0 =ENIL0d
§08 Py Ferde éég VPR FIE. & Jugo TEoR) edw s

éc§ FE0 SoRdgyEhwe éoagg
(i) 16%% (a) 12%
(i1) 20% (b) 6
(ii1) 8% (c) 5

(1) (i) (i)
(M (@ (b) (c)
2  (© (b) (a)
3 (@ (c) (b)
“ 0 (c) (a)

11.

A bank is giving loans at the rate of 10% simple interest. Kumar asked for a loan at 8%.
After verification, the bank sanctioned his loan at the rate he asked as the bank is getting
an interest twice as much as it gets on Rs. 40,00,000/- at the rate of 10%. What amount did
Kumar take ? (in lakhs of rupees)

28 ergod 10% S8¥ 588" Serow aod. HIrE 8% 88 SHhwo Ford. ol
S0°g, WgoHH & Hmwom VY B, Er. 40,00,000 D 10% I8 IV IodoH
2 Boomr Sodod HHr6%H Soege) D202 o D06, 356 @Toos’o;égv o Boo e ?
®30% $& Twws (vfo drardhos®)

(1) 100 (2) 90 (3) 200 (4) 180

12.

The compound interest on a certain sum at 16% % per annum for 3 years is Rs. 12,700. The
simple interest on the same sum with same rate of interest and for the same period is
(1) Rs. 9,600 (2) Rs. 10,800 (3) Rs. 12,000 (4) Rs. 10,200
Jend 162/3% THPd 3 JodEyorosH od Iy 5L§é<§ goe. 12,700 ®@o00dd.
©T oy . w0 56 V&, 908 JDHHArIE Feden $@

(1) . 9,600 (2) &». 10,800  (3) . 12,000  (4) &> 10,200
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13. The compound interest of an amount P for one year at the rate of interest 8% per annum
is Rs. 600. The compound interest for 2 years at the same rate of interest for the same
amount P is

(1) Rs. 1,248 (2) Rs. 1,428 (3) Rs. 1,644 (4) Rs. 1,648

¥ Saae_ﬁao P = 8% Zécé Tens&® 2.8 foo?éébd"fog éé)aéé 15L§E§c§ S, 600. ©T 3&3@_500
P 2 od Twws 2 Kvoéégweé‘g 2637) zﬁLééc(%

(1) . 1,248 (2) . 1,428 (3) . 1,644 (4) 8. 1,648

14. The ratio of the ages of Ramu and Gopi three years ago was 4 : 3 and two years later it

will be 5 : 4. The sum of their present ages is

3 éoéégm’o o ordw, Hho Sofdoe EOX:LQ@ 4 . 3, Todk ?oo:ééQCPQJ SSoaees
©d 5 4 oPXood. 0 (DG e IwEo

(1) 41 (2) 43 (3) 45 (4) 48

15. Three containers have their volumes in the ratio 3 : 4 : 5. The containers are filled with the
mixture of milk and water. The containers have milk and water in the ratio 4 : 1, 3 : 1 and
5 : 2 respectively. The contents of these three mixtures are poured into a fourth container.

The ratio of milk and water in the fourth container is

Jrdy F(Eo PIVBITrero AR 3 1 4 1 5. & rEod JTor Hodw Q¢
S)o@fzéooés QolSo. & @Lé@é‘sg) Jeo, DS VR Yo v 4 1, 3 11 Sddsn
512, 8 dardo @Léo@*’é’o DEFITOI TP @*’Léé“g FFE. o FES Foo
$00050 J¢ SRS

(1) 4:1 (2) 151 : 48 (3) 157 : 53 4) 5:3

16. If three numbers are in the ratio 3 : 4 : 5 such that the sum of their cubes is 1728, then the

cube of the middle number is

Hardo Dopge Povro Ingo 1728 wThghwemr ¢d) Dompge 08 3 : 45 wond
263455 foos;pg Ty HadB0

(1) 216 (2) 512 (3) 256 (4) 128
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17. The electricity bill of a certain establishment is partly fixed and partly varies with the
number of units of electricity consumed. In a certain month when 540 units are consumed,
the bill is Rs. 1,800. In another month the consumed units are 620 and the bill is Rs. 2,040.
If 500 units of electricity is consumed in a month, the bill for that month is
(1) Rs. 1,560 (2) Rs. 1,600 (3) Rs. 1,620 (4) Rs. 1,680
a8 Srgard Doy Wy 365055 Do o o, FEFom AWV 365055
Bordys g Srdrdr &0t0s. ¥ Boeﬁ% 540 FBorde AITraed8 HDHYS Deo
. 1,800. éoé“"é Tod® 620 FBorAE AAWrmAE HWNS Ebgo 8. 2,040. 2.8 3@65
500 0500rdé0 DA TITHOWIRYWES 53?) DBgE Do
(1) & 1,560 (2) & 1,600 (3) &r. 1,620 4) &r. 1,680

18. 6 labourers can build a wall in 10 days. How many labourers of double the efficiency are
needed to build 3 such walls in 5 days ?
6 K8 DATFY 2¥ FEdo 10 erod® oo, 208 TFop FHggo wdy
HATo) wmdod 3 Aol 5 Swrod® §®C§°D§ Q0odE 5?2
(1) 36 (2) 18 (3) 20 (4) 16

19. There are 100 students in a class. Number of boys is 10 more than the number of girls. The
average weight of boys is 50 kg and average weight of the whole class is 45.5 kg. The
average weight of girls is (in kg)
¥ S558S° 100 Ho0d dargdoen a8, wrend Dowg wrdSo Howg LW 10
Q¥R H. Wl vifLy KR 50 8. SEH8STD Dargdooodd viwy Sy 45.5 8.
rO8o DAty X (B (o)

(1) 40 (2) 45 (3) 50 4) 52

20. In a team of eleven, the average age of eleven players is 28 years. What is the age of the
captain ?
I.  The captain is eleven years older than the youngest player.
II. The average age of 10 players, other than the captain is 27.3 years.
Choose the correct answer
(1) I alone gives the answer but not II (2) II alone gives the answer but not I
(3) I & II both are required for the answer (4) Iand Il both together can not give the answer
11 So0d Ho a%aoeﬁ%, 11 So08 @c‘bmg‘é@ Defdn HaSoo 28 Doddyoreo. who P0G
SA%ov0oS?
L adﬂmeﬁ’s@ ©8 VI H0 do wbmrd 08 orosak 11 dodEyoren B,
I &ro5%doses, DS DO H0d womey Ddw H03% 273 Hod&yoros.
DTS Ddrgrdo Jo8%08
(D188 0TS vdrerdo a0, akgey (2) I8 B DTS Ddrardo a0, [ akgdh
B) I &I Todr Hdrarardd wddEDo (4) LI Bodor 0o, $drardo adgBwn
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21. A library has an average of 510 visitors on Sundays and 240 on other days. The average
number of visitors per day in a month of 30 days beginning with a Saturday is
w8 (Hogreairds DHed s&aorod® 510 $508 $38050 WADS dres® 240 H06
Yooc’.ﬁé;é‘gm S0, A S b0 &t 333&5@5335 30 Sren $OAY Jos® o8 &8 (fogreddras
$T) DoBE Heo HoHd
(1) 250 (2) 276 (3) 280 (4) 285

22. Read the following statements

Number of candidates interviewed by panel A out of the three panels A, B, C is

I.  The three panels on an average interview 20 candidates every day.

II. Number of candidates interviewed by A is 2 more than the number of candidates
interviewed by B and 1 more than that by C.

(1) T alone gives the answer (2) II alone gives the answer

(3) I & II do not give the answer (4) T & II together give the answer

& (od argpgod ISH0d

Hordy FgIFoy A, B, C o0&, >SS AT govdrgg Do & wygdo Bopg

L3 gB&oy difens (98 %2> 20 H2086 wfgdros q0bdrgg DI o®.

I A3 rowdrgg Wokhg ¢ wygdo Jowg B 3 Badog ) e—sap’gcgo@s’o'éﬁ 2, C3
Jodhg T g 08 1 285, '

(1) T 3@ vdrgrdo 8008 (2) II - ddrgedo 300

(3) Taos II, Bodkr ddrerdo asg®yy (4) Iaost Il Todr 0D SLrordo avon

23. Assertion (A) : If the average of 20 numbers is zero, then there can be at the most
19 positive numbers among them.
Reason (R) : The average of the first 20 natural numbers is 10.5.
(1) Both (A) and (R) are individually true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are individually true but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false
(4) (A) is false, but (R) is true

D3)B52 (A) @ 20 Dopge (DHL0) VOO0 wwd) wowd, FEST fogom 19 ¢
:“oong@o GOEDWY.
s*deo (R) P DBodd 20 JdTre Dowgo (ddw) Ddordd 10.5.

(1) (A) $605 (R) Bodr sr&dSom ©TIFsE (A) 8 (R) HTD S8
(2) (A) %005 (R) Bodr aGddom BHS 53 (A) & (R) HTD IS 526
(3) (A) %36 59 (R) 0056

4) (A) 652 529 (R) 6T

24. An owner increases the rent of his house by 5% at the end of each year. If the current rent
is Rs. 3000 per month, what will be the rent, in rupees, after 2 years ?
28 308 HEITI 3 308 @TI (D8 DoddyBo WY 5% Dowerds. & 308
308 ©3 JoH . 3000 o ©ONT, TO® DodEyoreo S ©T (Sraroihod®)
Do Godwod?
(1) 3300 (2) 3150 (3) 3307.50 (4) 3207.50
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25. A man bought a horse and a carriage for Rs. 30,000. He sold the horse at a profit of 20%
and the carriage at a loss of 10%. Finally he gains 2% on the whole. The cost of the horse
is
(1) Rs. 9,000 (2) Rs. 10,000 (3) Rs. 12,000 (4) Rs. 15,000
a8 Hg 8 Mh(om) H0Bn MY ({32’0 8. 30,0005 Sorydo. 88 (o) e@dd 20%
o8, HER) A 10% SFI8 odryd. DIEm ol Bodo NS 2% e
dgre. HSo b

(1) &. 9,000 (2) . 10,000 (3) = 12,000  (4) & 15,000

26. On an article the manufacturer gains 10%, the wholesale dealer gains 15% and the retailer

gains 25%. If retail price of the article is Rs. 1,265, the production cost of it is
(1) Rs. 800 (2) Rs. 850 (3) Rs. 900 (4) Rs. 950

2 0D, SBrbdads 10%. &°% argar88 15%, Dol argards 25% orgo
50008, @ SV VoY §& Er. 1,265 wond, & Sd5rd P8

(1) . 800 2) . 850 (3) . 900 4) &x. 950

27. The difference of two numbers is 1660. If 7.5% of one number is equal to 12.5% of the

other number, then the two numbers are

Bodky Dowgo B BSo 1660. o8 Dogpg BNy 7.5%, 878 Vopg B0y 12.5%8
(“0265"26@7?3‘ @ TBoKkd Yooagg@o

(1) 2490, 4150 (2) 2510,4170  (3) 2600, 4260  (4) 2700, 4360

28. In a group of people 72% drink coffee, 44% drink tea. If each person drinks coffee or tea

and if there are 40 persons who drink both then the number of people in the group is

2f JBrToSty HgHhod® T2% Hiod 5%, 44% %008 & (Eroerdy. ©odSt (H
265_% SRmR, S (erherds, Todr (@°h Hg¥eo 40 H008 0B © DTS
Hg8e Dowg

(1) 250 (2) 200 (3) 300 (4) 450
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29. A shopkeeper sells two T.V. sets for Rs. 20,000 each. On one he gains 15% and on the other
he loses 15%. Then, the shopkeeper’s gain or loss is

(1) gain of 2.25% (2) gain of 4% (3) loss of 4% (4) loss of 2.25%

a8 Sosteaardody 87 8y TV 8. 20,000 SD P Todd TVen @Sbgarcéo. w8 TV
©503 o0 o088 15% orgfdn H0005» Todkd TV o «E08 15% I D0 HD)08.

VOYP®B, @ $0570erdds IS orydw K SR BN

(1) ooesdn 2.25% 2) oo 4%  (3) 3%I0 4% (4) Shs» 2.25%

30. A shopkeeper purchased a TV whose marked price is Rs. 16,000 from a dealer at two
successive discounts of 20% and then 10%. The shopkeeper spent Rs. 480 for transportation

of T.V. If he sold the T.V. for Rs. 15,000, his gain percentage is

¥ &% g0 o0& wf dstmardids (DEFE TJo v 16,000 wd) ¥ TV
HEOm Todkd Ehow) FEoo 20% » SHhard 10% & o). g8 » TV Jarer
Bos@d8 S, 480 P&y woNIs. wdd & TV & 15,0008 @Do&@, SRISERRSISRNS
o B2 D0

(1) 30 2) 25 (3) 20 @) 15

31. A shopkeeper finds that the profit earned by selling an article for Rs. 1,470 is equal to the
loss in selling the same article for Rs. 1,050. If he is to make a profit of 30%, the sale price

of the article should be (in rupees)

2.8 osreaardady .8 HVoHdo . 1,4708 @3)3&3 HDNS o dw, 0T $V9HJo0 0. 1,0508
&9&)&3 SN 263&2603@8 DOFFoNISI HHoQo ey, B8 & HWD @Eéo&&éooé’s 30%
TFHH Careod, @ HWHEH FodHoDD ©d8Y 3 (Sraronod®)

(1) 1638 (2) 1600 (3) 1578 (4) 1532
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32. A and B started a business with Rs. 16,000 and Rs. 12,000 respectively as investments.
After 3 months A withdrew Rs. 5,000 and B invested Rs. 5,000 more. After 3 more months
C joins the business by investing Rs. 21,000. After a year they got a total profit of
Rs. 26,400.

Observe the following statements

(a) The profit must be shared among A, B, C in the ratio 7 : 9 : 6

(b) (Profit of B — Profit of C) = Rs. 3,600

(c) A’s profit is Rs. 16,000

The correct answer is

(1) (a), (b) are correct (2) (b), (c) are correct

(3) (a), (c) are correct (4) All (a), (b), (c) are correct

A $2005» Beo $80m0 8. 16,000, 8oe. 12,0000 =oéw &&° ¥ Frgardo (r8oowrdo.
3 oo $Hard A, 8. 5,00000 BE8) 818 ¢ B mose 8. 500000 oo &
Y. 2088 3 Joo $Hhard C, &r. 21,0000 i 48" argardos’ Toords. of
DodENEo EHhard 88 Jwdo S, 26,400/-© orzgfo HDN0b.

(Bod (HPBIB0no0 HOIDoB0R

(a) o) A, B, Ceoo 7:9:6 d0)$od® Ho%E 85Tl

(b) B 8 wrgfo - C 8 wrgfo) = Soo. 3,600/-

(c) A8 . 16,000/- orzSo

ISTCHCSSESINRSES R appTe

(1) (a), (b) @ $030I (2) (b), (c) ® H0TNID

3) (@), (c) o BOTIHD ) (a), (b), (c) o0 @Dy HOTPB

33. Ais twice as efficient as B and together they can finish a work in 18 days. A alone can
finish the work in

(1) 27 days (2) 54 days (3) 36 days (4) 45 days
B &) A TEoD @*’a’)oggog’ DY DoKXy H2005%0 56%5631 0D ¥ DI
18 Serod® Gro Dobhdeds. A af)d & DI Lro Dohde Do

(1) 27 &% (2) 54 &%eeo (3) 36 8%x=eeo (4) 45 &%=

IS 2016 A 9 G


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

ikl

A

34. A and B undertake to do a piece of work for Rs. 6,000. A alone can do it in 6 days and
B alone can do it in 8 days. With the help of C, they finish it in 3 days. The share of
C in the amount is

(1) Rs. 3,000 (2) Rs. 2,250 (3) Rs. 750 (4) Rs. 1,500

A, B oo a8 9D 8. 6,0005 Hro Bobwes D PE Y. &8 DAY A ¥k 6
&erostio, B w8y 8 SPerodtd Yro Tohded. C vHfaos® QI S HAID 3
SPerod® Hro Dards. @“Eﬁm&eﬁ’s C X0 erio

(1) . 3,000 (2) x.2,250 (3) . 750 4) 8x. 1,500

35. A cricket game is played between two teams with 50 overs. In the first ten overs of the
game the run rate was only 3.2. In the next ten overs it is increased to 4.6. If the captain
decides that the teams’ total should be 303 runs, what should be the run rate for the
remaining 30 overs ?

Tody xe 28 50 add (838 sl esarow. SoOS Jwse 10 é.,égé“s&) FSYeSTe bS]
Do 3.2 S8 10 éaééé% ©& 4.68 0N0B. = IrGHEHE Jodo DKo

303 Boﬁrge@ Sgoaa"f_oo DS 30 éuégfss Do Hordd dod &owd?
(1) 6.25 (2) 6.5 3) 7.0 “4) 7.5

36. A company paid Rs. 6,00,000 as bonus to its employees at different levels A, B and C. Each
employee at level A receives one and half times of the amount that was paid to each
employee at level B and each employee at level B was paid twice the amount paid to the
employee at level C. If 50 employees were on level A, 75 on level B and 100 on level C,
how much amount was paid to each employee of level A ?

(1) Rs. 1,500 (2) Rs. 3,000 (3) Rs. 4,500 (4) Rs. 6,000

A, B $000%0 C o g”ooo@@”s &) @&Sﬁoeﬁo ¥ 0 8. 6,00,000 Sngo SPSDoe
adob. A gﬁmeﬁf’&) %55553 3w)d Sndo B g*’ooaeﬁ)si) éﬁssﬁg BV B0eeI8 283 Y
Téw éo@oi.)o B Jronod®d &&°gn8 adys B\;oeéo C Fond®d &&gh8 adyd Sooeds
Tods Bé. A cg“’.oooeﬁ's 50 %008, B (g“ooo@% 75 Ho0&, C gg"ooo@% 100 %008 éﬁsgﬁomo'@ﬁ
A (g'f’oooeﬁ*’ ad) o8 e&gh8 adyd &80 Jog?

(1) &». 1,500 (2) &. 3,000 (3) &>. 4,500 (4) 8. 6,000
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37. While covering a distance of 24 km, a man notices that after walking for 1 hour and

5
40 minutes, the distance covered by him was 5 of the remaining distance. His speed of

walking is
(1) 9 km/hour (2) 6 km/hour (3) 10 km/hour (4) 8 km/hour

24 8.9 SroeQ) (HBrBoT (EHo0S® & $g8 a8 dod 40 JDared &V SSHard,

5
@SS DAL Srdost 7 Sod Srdo (DATrBomrdd dodowrdy. ¥ SdE =80

(1) 9 8d/ioe (2) 6 8d/doe  (3) 10 8do/oey  (4) 8 8d/oe

38. A cyclist reaches a certain place in 6 hours. If he reduces his speed by %th, he goes 5 km
less in the same time. His speed (in km/hour)
¥ ég% D85S (Do, ¥ Lﬁaﬁfﬂb‘l 6 obod® Iderd. o ég% 29) 3(?’209“
& Hods é@oiﬁoﬁvo'@j, OB HH0%0S wdbs 5 8 EEND (DABTrBTdr. @S Sdo
(8o/Kf 0 &)

2y 4t 4L 5 32
(1) s (2) 4¢ (3) 43 (4) 3%

39. Two trains are running in opposite directions with the same speed. If the length of each train
is 100 meters and they cross each other in 10 seconds, then the speed of each train is
(in km/hour)

Bocko E@;fo@ és@%% 8%s® 28 THo& (DreddaTryon. 2.8 ) Teo PEH 100
DO o0& © 28I HEESE 10 DEIS® e, 258 Tes BwE) o
(Kov 8S oIS

(1) 84 2) 72 3) 36 (4) 32

40. The distance between two stations A, B is 390 km. A train starts from station A at 10 AM
and travels towards station B at 65 kmph. Another train starts from station B at 11 AM and
travels towards station A at 35 kmph. The time they meet is

A $50050 B 90 $o¢g drdo 390 8.20. w8 Too Rade A 8¢ 10AMS 65 8.00/60
BH0& 00T A B FTH (Hrsteos. I8¢ Teo Ras B £ 11 AMSH
35 8ao/do BHo&  0HenTO DaD A Y (DBrBSD00. 9 FordodHT Dok

(1) 2 PM (2) 2.15 PM (3) 2.30 PM (4) 2.45 PM
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41. The number of times in a day, the hour and minute hands of a clock are in a straight line
but opposite in direction, is
08 828 RS0t Hobe Hodsw ddoare B0 2T DEF TS, HgBTE
&%t D) Yo wo&ron
(1) 20 (2) 22 3) 24 (4) 44

42. A watch gains 5 secs in 4 mins and was set right at 8 AM. What time will it show at
9 PM on the same day ?
w8 3B H&SrSo (28 Troofy dDarodH 5 DEN wffomr W08, &I
6&0%0 8 dowodH HOTD ©B & oo@ 9 HobodH ©d Bre Bdv Jod?
(1) 9:15:00 PM (2) 9:16:15 PM (3) 9:14:15 PM (4) 9:15:05 PM

43. The last day of a century cannot be

(1) Monday (2) Wednesday (3) Friday (4) Saturday
o0 0D DH0 S «HTIO
(1) a0 (2) osga>8o (3) HEaso (4) #da>o

44. X and Y invest in a business in the ratio 2 : 3. After donating 10% of the total profit to a
school, X gets Rs. 900 as profit. Then Y’s profit is
(1) Rs. 1,600 (2) Rs. 2,500 (3) Rs. 2,250 (4) Rs. 1,350
af Togrdod® X $o0050 Yoo 2 1 3 DO H8S ew & Derdh. Bndo orgfod® 10%,
a8 PEFToH JoeFomr 3w Ehard XE . 900 wrgfo HNod. wYdy Y8 5N
orefo
(1) . 1,600 (2) &. 2,500 3) &o. 2,250 (4) &o. 1,350

45. Ram and Shyam enter into a partnership. Ram supplies whole of the capital amounting to
Rs. 60,000 with the condition that the profits are to be equally divided and that Shyam pays
Ram interest on half of the capital at 10% per annum, but receives Rs. 150 per month for
carrying on the concern. Find their total yearly profit when Shyam’s income is half of
Ram’s income.

(1) Rs. 10,800 (2) Rs. 8,400 (3) Rs. 14,200 (4) Rs. 12,600

PRy D0 FgR© 29‘"53"’326050&3’8 Bougo v 60,000 FBaoy S0 o e & g
HDNS wrer) Dadrdomr D0WKHTLG 20052 Fgdo Do Dh & QWS o
Loddyord8 10% 66% W), d°grdo IBDoWVI0EH JodHh v 150 @K)os’oﬁe)g’)om
2DYOB0 B HT . TgH o0 & R o0 3ST vHo ad)gowE, agardos’
JVYS Bwgo DodENE wrgo Dod?

(1) . 10,800 (2) & 8,400 (3) &o=. 14,200 (4) 8. 12,600
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46. In a Geometrical figure if radius is 7 units and height is 6 units, match the following
(assuming suitable units and take © = 22/7).

(2)
(b)
(c)
(d)

Area of the circle
Volume of the cone

Volume of the cylinder

Curved surface area of the cylinder

(i) 264
(i) 924
(iii) 154
(iv) 308

ws@o@oﬁo Herod® stvdo 7 Borddo, 8y 6 FBardéw wod S8 (808 &8

BEHEIS0R (238D oﬁwi)doo &g 0s,

T = 22/7 @ @mé’soc%)

(a) )E JTogdn (1) 264
(b)) %0%H HodDH0Ieadn (i1) 924
(c) Yg?é B2 PISHB HIees Had (iii) 154
(d) proo HESe ITogo (iv) 308

(a) (b) () (d)
(H G ) @) @
(2 @) (@Gv) () ®
3 Gv) @) () )
4 (1) »H  @Gv) (i)

47. Match the following
List—I List—II
(a) Cuboid (1)  Square
(b) Cube (i) Circle
(c) Sphere (iii) Triangle
(d) Cone (iv) Rectangle
(Bod a8 =g Bo%od
e—I1 erde—II

(a) &8 Hodo (i) $S8%o
(b) %o%0 (i) $yso
(c) Ao (111) (Baezdo
(d) Fo%H (iv) BgSS8(do

(a) (b) (c) (d)
1 @ (v) (i) (i)
(2) (@) (1) (i) (i)
(3) (i) (1) (iv) (i)
4 @Gy (i) (1) (iv)
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48. If the length of a certain rectangle is decreased by 4 ¢cm and width is increased by 3 cm,
a square with the same area as the original rectangle would result in. The perimeter of the

original rectangle in cm is

¥ égiﬁéodtﬁo Vo) PEHI 4 cm SHod Jdooyd 3 cm 20D Dégc%é
BEE(D 3Tog0, BISSHED ITogo8 JVETrIHPNB08. oRE SFISE(DY Wogw
Fod Do.dod®

(1) 46 (2) 48 (3) 50 4) 52

49. Ramu cuts a metal plate into two equal halves. He again cuts one half into smaller pieces
of equal size. Each small piece is of 20 grams in weight. If he has a total of 7 pieces of

the metal, what was the weight of the original plate in grams ?

% a8 SR THI Tody v grarenm €800, 80A o vd rrrd) DIrD
PO &) W) S oo EE0owrdd. (D8 W) ) Ty Dy 20 (. «9Es
$E Bougo 7 TEH dE) @0 GO0, wdd E800DI BudE TH &HFH (.o Jod?

(1) 140 (2) 160 (3) 210 (4) 240

50. Two metallic cones of heights 4.1 cm and 4.3 cm and each radius of base radius as

2.1 cm are melted together and recast into a sphere. The diameter of the sphere in cm is

4.1 200.20 $28050 4.3 =o. oo, 28 8 a8 2.1 200.0 armgﬁﬁgo EON &)
Tods 'R FoHHods 0A0D af FFom HOTH. © FEY Tgod» Wo.Ned®

(1) 42 (2) 4.5 (3) 4.8 @) 5

IS 2016 A 14 G


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

ikl

A

(a) Any two similar figures are equal

51. Consider the following statements

(b) Two circles with radii 4 cm and 5 cms are similar

(c) A square and a rhombus are similar

(d) An equilateral triangle of side 3 cms is similar to an equilateral triangle of side 4 cms

Which of the above statement/s is/are correct ?

(1) (a) and (c) (2) (b) and (d)

(3) (a), (b) and (¢) (4) (a) only

& (8080 (DdWrolo $8300B0d

(3) @ Todk VErHD HErBor DITBOM G0LToN

(b) 4 oo FrgIrg N0 B0l 5 200.200 TrgrgHn o Tody Hysper dTrred

(0) S&S(Bdar, by SEGoyubn BETIY |

(d) 3 oo Haedsn do Klac‘éoar%ro (Babudn, 4 20000 Foudn do Do
(B2oerd8 DIrDHdw

D (PP TT0S JB/D DTS2

(1) (a) $080%» (c) (2) (b) H000%x (d)

(3) (a), (b) 08050 (c) 4 (a) o83

52. Match the following

(a) Mahalanobis (1) oo

(b) Srinivasa Ramanujan (i1) First Indian Satellite

(c) Bhaskara (ii1) Number Theory

(d) Aryabhatta (iv) Indian Statistical Institute

(Bod 8 =d&rdyod

(a) H5oSfOD (i) oo

(b) A0 ordrdoed (i) BodE s &dHT°0

(c) =08 (iil) Sogrg 770 9%

(d) ©dga6 (iv) o&0fs FBRES adPerrgd

@ (b () (@
() @Gv) i) @O ()
(2) Gy Gv) @) ()
() @i G Gv) @
4) @ i) 1) ({v)
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16

53. What is the value of (x+16)2 , if
(i) x#-16, and (ii) x> + 32x = 320

16

1) X #—16, So0605» (11) x° + 32x = [LYeSV) (x+16)2 Qe o0& ?
@) 16, %5605 (ii) x> + 32x = 320 E 3 dod
1) 36 2 L 3 L 4 L
1 @ 57 ®) 30 @ 35

54. The area of a rectangle is 60 sq. units. If the length and breadth are reduced respectively
by 6 units and 2 units, it becomes a square. Then the area of the square (in sq. units) is

8 OY IBHGRY 3Togo 60 S8EYH GBardew. o0 PEY, Ido o HdM
6 0535".9&0.30 H20 T80 2 oo e‘éqﬂg ©0 28 BSF(DNYHS08. @D PR & BSGDY
BToghn (IS8R Sarded®)

(1) 4 2) 9 (3) 16 (4) 36

55. Consider the following statements
(a) The higher the sun is in the sky, the shortest the shadow of an object on the earth
(b) The shortest shadow of an object occurs at local noon
(c) On the new moon day, the sun and the moon are on either side of the earth

Which of the statements given above is/are correct ?

(1) (a) and (b) (2) (a) and (c)

(3) (a), (b) and (¢) (4) Only (b)

Bod av)d (BTl H8390B0d

(a) es*¥os® drdogdy Dod DEID G0B, Frdod af 0P Db wodb VI
GOtNod

(b) 28 I0H ©8 DI V& © ([@Frod) N éoqrsﬁrlo& DBoBo00H

(€) drardg ddy Drdgds, Wo(Baky Forad BEE IPS wowrdd

DO DS (DIVT0S 2B/ DTID?

(1) (a) $0003%0 (b) (2) (a) L0005 (c)

(3) (a), (b) B85 (c) (4) (b) 25,8
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56. The area (in sq. units) of the polygon whose vertices are (0,0), (4,0), (4,4), (2,2) and (0,3) is
(0,0), (4,0), (4,4), (2,2) £0050 (0,3)e Bgrenme &d)  TPoghe SFogo (FEEY O S®)
(1) 11 2) 14 3) 22 (4) 30

57. A circus tent is in the form of a circular cylinder surmounted by a cone. The diameter of
the cylinder is 8 meters. The height of the vertex of the cone from the ground is 15 meters
and the height of the cylinder is 12 meters. The area of the canvas required to cover the tent
is (in square meters)
a8 DY Merdo Tgrﬁaozo CISESE) IR IShY ws*Sod® GO0, fgréo DWVgy FPgodw
8 Do. P Hood Fod) '889:0 Vg 28y 15 . H8 05w :“g?%ao Ay 12 Q. Judo
Bo@orR) D PO @26‘662603505 SRS IICS I ES S 3T0go (3.Q.0s%)
(1) 144 = 2) 116 n (3) 9% n (4) 64m

58. The next term of the sequence 1, 3, 4, 8, 15, 27,  is
1, 3, 4, 8, 15, 27, @EéoLS’EéooeS{’K) S0 (“oozps
(1) 37 (2) 44 (3) 50 (4) 55

59. Five girls are sitting on a bench for a photograph. Seema is to the left of Rani and to the
right of Bindu. Mary is to the right of Rani. Reeta is between Rani and Mary. Who is in
the middle of the photograph ?
(1) Rani (2) Mary (3) Reeta (4) Bindu
8023205080 @é?&ooa@o et §%%o0 o O Erdoar)d. 0788 J&D (DEH D, Dodod
HE (985 Do wod. ool BB (D)0 Fod wod. ooes8 Tobs BGgd ber &oab.
FE BoggS®t wd B B2
(1) ored (2) =96 (3) b (4) o

60. Fill in the blank :

PO Yrootod :
CG:HL:: KO:
(1) QV (2) PT (3) RV (4) VT

In each of the Questions 61—66, pick the odd number out (does not match).
61-66 S8& (BFHoS® LI Jowpgd Hafowedw.

61. (1) 282 (2) 364 (3) 4168 (4) 6248
62. (1) 1285 (2) 2213 (3) 3074 (4) 4172
63. (1) 1339 (2) 2665 (3) 3991 (4) 4223
64. (1) 11 (2) 246 (3) 327 (4) 464
65. (1) 5 2) 12 (3) 25 4) 36

66. (1) 81 (2) 441 (3) 529 4) 613
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In each of the Questions 67 to 72, a sequence of numbers that follow a definite pattern
is given. Each question has a blank space. Fill it by the correct answer from the four
given options to complete the sequence without breaking the pattern.
67 3008 72 H8K o 158 Li.’a"éleb“széo 20D Jowgor af [Ed EFoD V50T FESTT)0%.
B8 (B%)SR0 &) PO wdoEd VoS TIE Foro Eu&om adyd el PRYTL 008
BOTD mar 98° YrooKod.

67. 5, 11, 28, 53, , 175, 296.
(1) 89 (2) 123 (3) 126 (4) 152

68. 7,6, 11, 13, 15, 20, 19, 27, 23, .
(1) 27 (2) 34 (3) 36 4) 37

69. 4, 10, 18, 28, 40, , 70, 88.
(1) 36 (2) 44 (3) 54 (4) 64

70. 21, , 55, 78, 105, 136.
(1) 36 (2) 38 3) 42 (4) 45

71. 3,7, 13, 21, 31, , 57, 73.
(1) 39 (2) 43 (3) 49 (4) 53

72. 24, 60, 120, 210, , 504, 720.
(1) 226 (2) 306 (3) 336 4) 420
In the Questions 73 to 77, the sequence of English alphabets and the corresponding
numbers 1 to 26, follow a certain pattern. Fill in the blank space in each question with
the correct answer from the four given options without breaking the pattern.
73 [00& TT H8LH ad)d @%gpcﬁ's w0 @Forwe 0w o 0o Yoong@o 1 %006 26
ROE, af [EX0 $Fod ANV ;&I 0. (08 B%)S® @) O, wBoEe eS8
Fordo Lodom, ad)d Fooi pD)Te B008& H0TE I 28 rootod.

73. If VEDA’s birthday is on 22-5-41, then RAGA’s birthday is on

VEDA %gd 8% 22-5-4] wond, RAGA Hgs &e
(1) 17-1-71 (2) 18-11-51 (3) 18-1-71 (4) 19-1-61
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74. If AZEV : FUJQ, then BYFU :

AZEV : FUJQ woxd, edyd> BYFU : i
(1) GKTP (2) GTKP (3) GTPK 4) PTKG

75. If AKBAR : 15, then ANWAR :
AKBAR : 15 ©won€, odypd> ANWAR : )
1) 11 ) 19 3) 17 @) 21

76. 1f ICET : 73, then HBDP : .
ICET : 73 wons, @éyc‘éo HBDP : .
(1) 64 (2) 34 (3) 48 4) 54

77. If FACT : 54, then TAKE : .
FACT : 54 wons, oo yd> TAKE : .
(1) 35 (2) 46 (3) 68 4) 82

In questions 78—82.

In a certain code of the word ‘SAINT’ is coded as 82147 and the word ‘MONKEY’ as

364950. Write the code for the following words using the conditions given below :

(i) If any code ends with ‘0’ change ‘0’ to 9

(i1)) If no match is found use X

(i11) If the first digit is ‘0’ replace it by 1

(iv) If both the first and last digits are equal numbers, # 0 and # 2, then change the first
digit to 2

%o 78 do0& 82 B

.8 §&8° ‘SAINT’ o3 HSo 82147 mrdo, ‘MONKEY’ o3 %do 364950 b §°6

B 33 fod add AdLwN wgrdomr TWHE afd bored &8 [3°05ed ¢

(i) 2 8§63z VI8 0 0V, v 07D 9 SrEHyod

(i) 05038 26 BEFE X 5°¢0d
(i) SnEE ©@0T 0’ wond od FI0S° 1 dod

(Iv) B0c5e3 Ho0d5» VB8 woBew, o sE 2 5% ST DIrdH0 wowd Qopged
©onBd, IGE @08 & 2m Irdyod

78. The code for the word INMATES 1is
INMATES o3 $do [SSEEY &
(1) 1342578 (2) 1347258 (3) 1432758 (4) 1432578
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79. The code for the word YESTERDAY is
YESTERDAY o3 $do aoo§a_ &
(1) 15875XX29 (2) 15875XX21 (3) 05875XX20 (4) 15857XX29

80. The code for the word STALKINGS is
STALKINGS o3 $do &w§2r S
(1) 872X914X8 (2) 87X2914X8 (3) 272X914X8 (4) 272X194X8

81. The code for the word MONASTERY is
MONASTERY o3 %do [SSEIP §°&
(1) 3642875X9 (2) 36248750X (3) 3642785X0 (4) 3642857X2

82. The code for the word ASTEROIDS is
ASTEROIDS o3 %30 TToEy, §5&
(1) 1875X61X8 (2) 2875X61X8 (3) 3875X61X8 (4) 278X561X8

83. A motor car starts with a speed of 70 kmph with its speed increasing for every two hours
by 10 kmph. The time taken to cover 360 kms is
(1) 4 hours 20 minutes (2) 4 hours 30 minutes
(3) 4 hours 40 minutes (4) 4 hours 50 minutes
08 Brerd 528 70 8o/o BHo8 FodB (98 Tods Howedr 10 8J/fo Soedy
O0BKOW08. & & 360 8.0 Srord) (DBrBoSEA8 Y DHocko
(1) 4 Jove 20 Jddoareo (2) 4 dodveo 30 Jddoarewd
(3) 4 Hoveo 40 Joreo (4) 4 oo 50 Joaroo

84. AB is a straight line. An insect starts from A and moves vertically up through 4 cms and
then horizontally towards right through 3 cms and again vertically up through 2 cms and
horizontally towards right through 2 cms and finally vertically down to reach B. Then the
area of the figure formed (in sq. cms) is
AB 2.8 $8¥ Ty, a8 QS A 2008 00003 &g gdnpomr 8 4 =00.000 69,
éo@@ HEBY §8e vIrodIom 3 Ho.dowd 6O éo@@ 8 t%%gséoozpom 2 200.200
60, 808 %&3Y §8= VIroddom 2 Do.dven 6O DISm (8ob8 e dwwonr
&9 B Too0o. ©D P& 3)6‘3%6 DO IFToLHN (LEEDR 0.0ed?)

(1) 24 (2) 26 (3) 30 (4) 144
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85. A person walks 40 m in the North-East direction and turns 90° to his left and walks 40 m.
Then, he walks 4(.,/2 m towards south. Then, the distance between the starting point and
the last point is (in meters)
a8 S5 & Sardg 643 40 . BrEHn 8D, 3 A&Ho IHH 90° 86A 40 Qo SrSHw
S0, DK S OIS 4042 Do, SrEdw Q&% SEE (PEoPoWd Dodow),
Q&8 QYo TS DoddHo BRI QRGNS (D.08%)

(1) 0 (2) 60 3) 6042 (4) 8042

86. A person walks in the given directions as follows
(i) 60 m to East ; (ii) then 80 m to South; (iii) then 120 m to West; (iv) then 30 m to North
and (v) then 60 m to East. The distance between the starting point and the last point is
(in meters)

2¥ $g8 (808 adys %S S

() 780y &4S* 60 Qo.; (i) SSoard S8 HFS® 80 Jo.; (ill) @D HEDHE 8IS 120 Do.s
(iv) 8&090 &gd 64S® 30 Q. H0%» (V) wdoddo -y AFS® 60 . Sdoddbo.
g5 J&E (@EoDoND oD, SBE Yro Bd DodhHo Dosg S8 (.07
(1) 30 (2) 50 (3) 60 (4) 120

87. A person walks 250 m towards East, then walks 50 m towards North, then walks 300 m
towards West. The distance between the starting point and the last point is (in meters)

a8 Hg8 Srdoy 83S* 250 . Jdodndo, D P& wEI &%s® 50 dQo. Dok
@H P DEHS 64S° 300 2. BB, BB BdE (@rSoDoDd Dodod), S8 Pro
TR DoddHo DGy Brda (.05

(1) 30 () 6042 (3) 10042 4) 5042

88. A person facing East moves 30 m towards East and then moves a distance of 40 m towards
South and then moves 60 m towards West. How far is he from the initial point in m

ErdosH wdlopomr wd) Hg8 Srdy oL 30 D& $dTE S§mo B
40 .0 HED D DENE Y 60 D02 SETE. BuSE Do) H0d wBBoH
Er8od® oy (.o

(1) 50 (2) 60 3) 70 (4) 130
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A

Find the missing number in the sequence 120, 99, 80, 63, 48, ?

120, 99, 80, 63, 48, ? &3 @EéoLS’éooeS”s S*PoRD ?ooeps;éo EJ0A°Hodw
(1) 35 (2) 38 3) 39 (4) 40

90.

Find the next term in the sequence 589654237, 89654237, 8965423, 965423, ?
589654237, 89654237, 8965423, 965423, 7 3T @Br(E5:08° SKard bEo E%8 08
(1) 96542 (2) 65423 (3) 96543 (4) 65234

Read the following data and answer Questions 91, 92, and 93 :

Out of a total of 35 students, 16 want to study French, 16 want to study Sanskrit and 11
want to study Telugu. 5 want to study both French and Telugu, and of these three want to
study Sanskrit as well. 5 want to study only Telugu and 8 want to study only Sanskrit.

Bod deroddan Hoa 91, 92, 93 (BFH o zTAIges :

91.

Sngo 35 Hod Dwg%ﬁoe@% 16 $008 (How, 16 H00d Dody YBHn H38d%» 11 Hod
By WS DD 0w 8. 5 8y (oW B0 Swoiy Todr SSred, 208
dodody Dody yEo Erwe WS T ©32800F 8. 5 sy Soah 26?@530 S0
wé)'fgo, 8 Hood Dody Yo :;65"@530 IS STVI CRSRESISTREN L) Tor B

Match the following :

List-I List-I1
(Choice of Languages) (No. of Students)
(a) Only French and Sanskrit (i 2
(b) All French, Sanskrit and Telugu (i) 1
(c) Only French and Telugu (iii) 4
(d) Only Sanskrit and Telugu @iv) 3
Bod &8 =SEHEWos :
Rl | eI
(RO A Ee) (Dmggoe Sowg)

(@) (0D H0Bw DDy yFo J(ETo (i 2
(b) (oD, Dodyydo L0 Vo @) (i) 1
(C) (HoD Ho0TBH Vool Hoo(EHo (iii) 4
(d) D0l ydo Ho0db» Sewd S0 o @iv) 3

@ (B () @
(D @) (Gv) @) (i)
2) (i) @O G (Gv)
() (Gv) (i) () (@)
4) ) @ > ({v)
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92. Which one of the following statements is not correct ?

(a) 10 students want to study at least two of the three languages

(b) 5 students do not want to study any of the three languages

(c) 4 students want to study all the three languages

(d) 7 students want to study only French

(Bo& ad)d (ddVTres® & $05°E?

(a) 10 Ho06 Dwggooo 3 rhes® £D%o0 Todoidar) WhFrodEoboar)d
(b) 5 Ko Z)mg(goe)a Loy rhodt D8 Srer SSaredstido B

(€) 4 hd durgdood Hardd PR WHHS DB 00IT) 8

(d) 7 &0 3)5"5(;50@3 (oD Jor(E o FSroI0EH0oT) 8

(1) (a) (2) (b) 3) (o 4 (d

93.

Read the following statements :

(a) 30 students want to study at least one of the three languages

(b) 20 students want to study only one of the three languages

(c) 2 students want to study only the two languages Sanskrit and Telugu

The correct answer is

(1) (a) is correct but (b) and (c) are wrong

(2) (a), (b) and (c) all are correct

(3) (a) and (b) are correct but (c) is wrong

(4) (a) and (c) are correct but (b) is wrong

Bod (DdVrold HLdHod

(a) 30 X006 Daggooo BHordhy rheodt $d%o 28 A3 SdFrodHoboIe) 8
(b) 20 %08 dargdowo HrEo8S® wg) I IrEH SdTrodE00T 8

() agd Z)wgc@ioeo 000 YE0 D0 Beoiy To&o S(E o FET0E 00T 8
DOODPS DIrGrId0

(1) (a) ¥3BIT 572 (b) L0Bn (c) 205D

(2) (a), (b) L0odn (c) Hards DTS

(3) (a) %:60%» (b) ¥TIF 5°0 () DO

(4) (a) $0050 (c) DTID 522 (b) vOs°
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The number in the figures in Questions 94, 95 follow a pattern. Find the number in
the place marked (?).

Bod adyd 94, 95 (H¥ v DeINOS® Jopger af ERDSBS® eI 0. (?) DES e STy
éoa:g s’:éoé'szroé’s.

3013 7158 541 2189

9. 715 3|40 419 5139
(1) 9 Q) 8 3) 7 4) 6

418 6112 12 [ 36 2120

95. 212 213 3] 4 2| s
(1) 16 Q) 8 3) 10 @) 2

96. A silver cuboid of dimensions 5.5 cms X 5 cm X 4.2 cms is melted to form circular coins
of diameter 1.75 c¢cms and thickness 4 mm. Then the number of coins made from the silver
metal is (Take © = 22/7)
5.5cms x5 cm x 4.2 cms Soden fo a8 T0sd &Y Hoard) £8A0D 1.75 cms agdDw0
08050 4 mm  Sooddw e SyEes°8 By ST DI, @étyéo Fo0d SPHro
008 SHrTS TBo Dopg (M =227 ©d 8%0&04)

(1) 120 (2) 80 (3) 60 @) 12

97. A rectangular field has its breadth and length in the ratio 4 : 5. If the breadth of the field
is 20 m less than the length, then the perimeter of the field in m is

8g S| s o &) o8 FPodn V) Vdwoy, Fdd 4 15 35&;@&5‘3 FOR).

© POHN Vo) Bdooy R o) 20 m SEHpdae &26;55, @ PoOHD CRE) Wk
Fod N.odt

(1) 240 ) 300 (3) 360 4) 540

The numbers in the following figures follow a pattern. Using this information, find the
number in the place marked (?) in Questions 98, 99 and 100.

Bod ad)d Hedod® Sopges ol EHoddBS® aIm on. & JITTELN SHTIA0D, (BFHoo
98, 99, 100os® (?) g3 St é?ab Somgdo §269§62roc%.

1 3 4
3—(12}—5 r%(t}—3 6_@*,_2
8 8 5
4

98. 6 3

2
(1) 26 2) 28 (3) 30 (4) 32
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99. @

(1) 3 (2) 4 (3) 3 (4) 6

100.

N | —
—_
)

4) 1

N | —

3
(1 2 @ 5 3)

101. Identify the correct statements

(a) Magnetic force does ‘no work’.

(b) Electrostatic charges generate magnetic field.

(c) Ifthe lines of magnetic force are parallel then magnetic field is uniform.
(d) Uniform magnetic field is conservative.

03O DdTeven HHBobod

(a) ©oHhIpod  odn DIV .

(b) %8 S)éogwﬁr‘é&m@ HoS @008 F (S50 ¢d)8 @b,

() ©05F)o0d © Typo JDIToSEHd wohIpod F (Fdw 28088 wodod.
(d) 2868 wohFpod E(E5n Jdgse Fdo.

(1) (a), (c) (2) (@), (c), (d) () (a), (), (c) @ (b),(0)

102. What physical property of the following uses non-destructive evaluation experiment to image
defects in materials ?

(1) Sound (2) Heat (3) Electrical (4) Magnetic
&3 (800 @ F°BE $o7y D), (SBgEnod® o Srodn (HBDoDOT T FE Jeodes &Y
(DT HB0S® TS ?

(1) &3 (2) e@d» (3) soge (4) oddbryod
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103. Identify the correct statements

(a)
(b)

(©)

(d)
(1)

GET IT ON
Google Play

Sound waves and ultrasonic waves are longitudinal mechanical waves.

Sound waves are longitudinal mechanical waves and electromagnetic waves are transverse

mechanical waves.

Sound waves are longitudinal mechanical waves and ultrasonic waves are transverse

mechanical waves.

Electromagnetic waves are transverse waves.
(a), (b) only

DTS JdTeven mgoéoc%

S8V EJomoy H0d5n W8PID SSomrer wNBIe Bro@ Edomod.
$8 Sdomor wNBIe dBro(@8 Edomwr DOWBn JLogdadoIryod Eomen

(a)
(b)

(c)

(d)
(1)

@655 FBro (88 SJomen.

(2) (a),(b),(c)only (3) (a),(d)only

(4) (a)only

$8 Sdomo wNBIg Xro(@8 Edomeo HNO0Mw w8 FI0 Edomen @6§§

05ro (B8 oo,

S)dogcﬁo‘éoa"a_oé SEomed @6§§ SSomen.

(), (b) (& 2) (a), (b), (c) S (E

(3) (a), (d) B (4) (a) (@

104. Match the following :

(a)
(b)
(©)
(d)

List-I
Mercury thermometer
Platinum Resistance thermometer
Thermocouple thermometer

Constant Volume Hydrogen gas thermometer

Bod 8 2BDEL0b :

(2)
(b)
(c)

Rt AL |

3360&56 z%cg‘sme:% DD EH»

ALV RSRINY Q65 E SIS HrHEDw
&R oﬁwﬁ&éw SI(AS DT DED®

List-II
(i) 200 °C to 1600 °C
(ii) —200 °C to 500 °C
(iii) —200 °C to 1200 °C
(iv) —30 °C to 350 °C

a1
(1) —200°C $o0& 1600 °C S8

(i) — 200 °C $508 500 °C %55
(iii) — 200 °C $508 1200 °C $5&

(d) 3 HoSDHODBTe o (BPes &eaind) (iv) —30°C %20& 350 °C $8%
Ga (g DrDEH0
(@ (b () (d)

I @ aG) (aGv) (i)

(2) @ @G @Gv) (@)

(3) @) @(v) aG) ()

4 (Gv) (@) @ (D)
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105. Metal ion present in Vitamin B, is
DO Blzé% o S wodrd
(1) Fe* (2) Cr* (3) Co* (4) Mg*
106. The irritant red haze of the eyes in the traffic and congested places is due to
(1) Butane (2) Dust (3) Oxides of Nitrogen  (4) Methane
((°PE woEHor &) HHOosw 200go B @Dy (88) 00 HBros® gy dod
JBe 5°HErI8 580
(1) 05'(.355 (2) $® (3) 3¥*=S «3 yeor (4) DTS
107. Which one of the following is a polyester fibre ?
(1) Bakelite (2) Polystyrene (3) Nylon-6,6 (4) Terylene
(Bob TES® >OTHE Fh 8?2
(1) B838& (2) @@‘3585 (3) Swre-6.6 4) ®odS
108. Identify the statements from the following which are not correct ?
(a) Lactic acid is an antiseptic
(b) Chloramphenicol is an antibiotic
(¢) Sucrolase is an antimicrobial
(d) Analgin is a tranquiliser
(Bod a°8S* DOOHD AVen 570 B hoKok.
(a) or§§ oo af Brod81RE
(b) 85 IS af dSrod wWrEs
(c) %oETE a8 Bro8BH(E° DS
(d) A57OS 28 (@ro8g B=d
(1) (@), (b), (d) (2) (), (c), (d) (3) (), (b),(c) (4) (b), (c), (d)
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(a) Carbohydrates synthesized in the leaves are translocated to other parts of the plant through
Xylem.

(b) Recombinant DNA is also known as chimaeric DNA.

109. Read the following statements

(c) Programmed cell death is known as ‘apoptosis’.
(1) (a)and (b) are correct (2) (b) and (c) are correct
(3) Only (a) correct (4) All (a), (b), (c) are correct

s (800 (DdUTrodn @ggahdo Ho%od

(a) HErod® HoFusHwohy 5°8°) e ([@hen gy, add rmod Trdhy) oogo FT0E800

Bodozon
(b) DHIsdboB/r=s DNA o PHo0§ DNA o Sre woirdd
() (Pe®s> Fom Swreo WIFSER) ‘PPDSVD woerdd
(1) (a) %0050 (b) HOTHED (2) (b) %805 (c) HOTHH

(3) (a) Hr-(Eo HOTHH (4) (@), (b), (c) ®y H0THH

110. Read the following statements concerning smoking and identify the wrong one

(1) Nicotine inhibits the functioning of adrenal gland
(2) Smoking causes emphysema
(3) Smoking increases ‘CO’ levels and reduces O, levels in the blood

(4) Adrenal medullary hormones increase the B.P. and heart beat

Ao Do 0o & (8od (DITTrelo ©ga%d0 TR DO I 800
(1) @IS (fod DI Agrar)y, AEES A6°90d

(2) &rdeddo $o QoD H SENSRTSS

(3) Herddo So SEod® ‘CO’ Hodrmo oA O, HOJrwmo Sodo

(4) JBIS SHgi 8 Howr S8 DI, €T FLET D) Wodosron
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111. What is the function of Plasma cells ?

(1) Antibodies formation (2) Storage of fats
(3) Storage of proteins (4) Vasodilation
Q"i)"& oo IO QW2

(1) (d8 Igscolo Dfﬁgdozﬁoéo (2) (Hgo oy
3) @%?2600 dog 4) J"@“’"@@‘QS

112. Which one of the following is not correctly matched ?
(1) Vitamin B, — Beriberi (2) Vitamin B, — Pellagra
(3) Vitamin B, — Loss of appetite (4) Vitamin B, — Pernicious anaemia
&s (300 2B0d® IO HOTNIL 5°%

(1) 2625 B, — B0BO (2) 2625 B, — Do
(3) DoM™E B, — o5 Hr08n0Bd0 (4) DomE B, — 252005 585

113. Read the following statements

(a) Acid rain is caused when sulphur dioxide (SO,) and nitrogen dioxide (NO,) in environment
reacts with water molecules in the air.

(b) The farthest atmospheric layer is thermosphere.
(c)  Western Himalayas are biodiversity ‘hotspots’.
(1) (a)is correct but (b) and (c) are wrong

(2) (a)and (c) are correct but (b) is wrong

(3) (b)and (c) are correct but (a) is wrong

(4) All (a), (b), (c) are correct

& (800 (HdVTrodn wEgohdo Bohod

(a) erd8mos do38 BeE )& (SO, o005 SE°=S Be3 36 (NO,) o™
VG wanHos Iy JoodPE ‘wdy Sgredr HJow.

(b) odgod &rdone &07 derdden &Y 6;558&?090538

(€) BBYH rIrodirer BIIV8g ‘KTS(E‘)T@"Q&?@

(1) (a) 200303586 520 (b) H00d80 (€) DO 57

(2) (a) %6050 (¢) HOTHBD 50 (b) HOTHBE 5o

(3) (b) o050 (C) HOTHHD =0 (a) HOTBE 5o

@) (a), (b), (¢) why HOTBD
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114. Match the following

List-1 List-I1T

(a) Methane (1) Knock-knee syndrome
(b) Phosphates (i) Global warming

(c) Freons (ii1)) Bloom formation in lakes
(d) Fluorides (iv) Down syndrome

(v) Ozone depletion
Ss (808 780 xEDNTWos

ko | erde-11

(a) 0TS (i) d5-9 2o(&R0

(b) Foyden (i) 6° & 0304

(c) (PUFBrSeo (iii) vEDoyo&® Hooxd (bloom) 28 yEwO
(d) &TEes (iv) &S Do(& &0

(V) &&'S oo
The correct answer is

BOTHY BIrEHo

@ G (@© @
() @Gv) i)  (v) (i)
(2 @) @Gi) v @)
(3) @y (@) (v)  (av)
@ () @)y @) @

115. The correct sequence of states in which Bandipur, Manas and Pench Tiger Reserves are located
(1) Bihar, Assam, Maharashtra (2) Karnataka, Madhya Pradesh, Rajasthan
(3) Madhya Pradesh, Maharashtra, Tamil Nadu (4) Karnataka, Assam, Madhya Pradesh
0&PE, JrDd HWBISN Do PO wdirdergod SOANND) orarye HOOPD (ENd

(1) 958, oo, HoFEoRy (2) Eoro¥, HGg(HTF, eI
3) 563455@369%, HTPorR 9, STk (4) Zo»E, oyo, éocﬁg@aé%

116. An irregular occurring and complex series of climate change is called

(1) ElNino (2) Hurricane (3) Tornadoes (4) Low pressure
DOEQADI, b0 SO Erddn Irdyodn & (Sod JFomr Do
(1) 25 JS° (2) ©03ES 3) éS”Ségvﬁs (4) ooy DEHB0
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117. Which of the following is/are not correct ?
(a) First Five Year Plan — 1951-1956
(b) Third Five Year Plan — 1966-1971
(c) Sixth Five Year Plan — 1980-1985
(d) Tenth Five Year Plan — 2002-2007
Correct answer is
(1) (a)and (c) (2) (b)only (3) (c)only (4) (a)and (d)
& (808 TEgod” 0/ SDy?
(a) DBosE HoIHE (DerrPst stodHw — 1951-1956
(b) Hordd VoW (Der®s sPoHw — 1966-1971
() @8 Hoddd (Derds stodn — 1980-1985
(d) 285 DobIY (Per@s stoBw — 2002-2007
0TS Ddrrddn
(1) (a) 200050 (c) (2) (b) SrE (3) (c) dorg (4) (a) 00050 (d)

118. Economic and Social planning is in

(1) Union list (2) State list

(3) Concurrent list (4) Residual powers
©08 H0H FHrEE (Herds WS Q DTS PoddITSH
(1) So|8 erder (2) gy =oe

(3) ©Hé wrder (4) o339 vis o

119. What is the correct descending order of foodgrain producing states ?
(1) Uttar Pradesh, Punjab and Madhya Pradesh
(2) Uttar Pradesh, Madhya Pradesh and West Bengal
(3) Punjab, Uttar Pradesh and Telangana
(4) Madhya Pradesh, Punjab and West Bengal

PEETH0S® witS rargeod HodoWdos® BHY (ERosS® (IHH Hod) HoRoT TrEre
K00k od

(1) aSSHTTF, doerd Hr00B» 260(}55@36?%

(2) sESHTF, JoPgHTF H0dn DI HBTord
(3) Hoerd, ¢SS(HTEF H05» Boomrn

4) Eéoc;ﬁs[}aé%, Doerrdd Hodakn DI BomrS
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120. Which of the following Articles of the Constitution can not be suspended during the period of
National Emergency ?

(1) Art.32 2) Art.21 (3) Art. 19 4) Art. 15

B0 wEgHDY HOJE DHoVS 00 TPErgoRod’ @ wRESH DVYoE Wohardd
Q0T ‘

(1) ©0¥& 32 2) ©0¥& 21  (3) ©g¥S 19 (4) ©gsS 15

121. Match the following

List—I List—II
(a) Rajoliband Diversion Scheme (i) Karimnagar
(b) Sriram Sagar Dam (i1) Adilabad
(c) Lower Manair Dam (ii1)) Mahabubnagar
(d) Kadam Reservoir (iv) Nizamabad
2B DTS00

a1 eI
(a) ocefeon ol $:930%) vE¥o (1) 80348
(b) Joro 06 @ (1) wdocerd
(c) &*a56 $r3I86 @& (111) Sose HSHE
(d) £Bo dexorgaib (iv) derdrersd

(a) (b) (c) (d)
(M O (i) @) - (1v)
2 G Gy @ (i)
) Gv) (i) () Q)
(4 G Gv) (i) @

122. Consider the following
(1) Right to Education Act makes education a Fundamental Right
(i) Right to Education Act was passed in the year 2009
(iii) Right to Education Act assured free and compulsory education to the children between

years 6-14
Which of the statements given above is/are correct ?
(1) (1) and (i1) (2) (i) and (ii1) (3) (i) and (ii1) (4) (1), (11) and (ii1)

(Bod arsegot HOROOWDN

() dorg ) Who ISgd (FENE Ty (DESFoVod

(i) Dorg % Ko 2009 éoéésdéwé’g BB oWE

(i) 6-14 S0IEYyred® &Y DEL0E08 DS B0 DB yod sy azrgod darg
&y WHo (DEBoV0L

D 5god® d8/92 HTID

(1) (i) 00030 (ii) (2) (i) L060%» (iii)

(3) (i) 0000 (iii) (4) (1), (ii) Do060%» (iii)
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123. Minimum duration of stay in India before applying for Indian citizenship is
(1) 3years (2) Syears (3) 6years (4) 7 years
DT P8 PEDEG0 §BH SBTRy THNGH K00 rEETHoS® A HDoHS TR0
AHD0V &odHTlo.
(1) 3 JodEyoren (2) 5 JodEyoren (3) 6 VodSyoren (4) T Doddyoren

124. Which state government has launched a scheme titled ‘Ashray’ to save girl child ? What is
the main aim of the scheme ?

(1) Uttar Pradesh : Providing 200 crores to save girl child

(2) Madhya Pradesh : Providing food and clothes to girl child

(3) Rajasthan : Government to place specially designed cradles in 65 state hospitals
for the safe abandoning of girl child

(4) Haryana . The government to place specially designed cradles in all state
hospitals

‘Bl Doo VoSS S owwE o "R 90 &(F0% @l DPFodd @33«%:‘@%30&. o (D

g go Qoe3 ?

(1) &g (HTF  : i Doodd §osrws &r. 200 §°¢S Swronodod

(2) Dogsg B3F 1 ek Do oo, 8IP0PQ) VHETE YKo

(3) o= D el Dyod Ddgsomr IED VYIS 65 (HehEg whod (e’
(HEg8om Do 08 &S Wchoe Joydn

(4) Sogd D o) (HEg eod (st (HBgEom 00w & #0500 JoYeo

125. The Intellectual Property Appellate Board (IPAB) has ordered Chennai based ‘Geographical
Indication Registry (GIR)’ to issue ‘Geographical Indication’ tag for basmati rice, which is
applicable to 7 Indian states.

Which of the following is correct ?

(a) These seven states are in the Godavari river basin of India
(b) These seven states are in foothills of Himalayas

(c) These seven states are in North-East of India

(d) These seven states are in South India

(1) (a) only (2) (b) only (3) (a) and (d) (4) (a) and (c)

D& o o ESAESPAS) @%303?5@5_ 25)5§ (IPAB) ez (05780 B3 )% Bodd 2Tr(dPES
2088ASy) 08%9 (GIR) o H09 w98 DASgoH EWrIHES R08TAS oo
$00%) BnED D00, & Jo(@ PEETIoSTY T orargedy $9000

(Bod o&S* D& duo

(a) € 2% Tar9eo F N0 DOFTE (rod0S’ o

(b) & 2% orargen IrIredre Fore Tod Lol

(c) & ko T°gPg @0 3B TH0SD ﬁéd—éﬂ?égoéﬁ ol

(d) & ¢ orargeo ¢ e oSS TF0S® o

(1) (2) 67&S> @) (b) 3783 (3) (a) %0050 (d) (4) (a) 20050 (c)
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126. Old name of State Bank of India is

(1) British Bank of India (2) Imperial Bank of India

(3) Federal Bank of India (4) EastIndia Bank

RE 2g0f ©d R0BIT YrigH) W

(1) 08 ergof @ z0&dsr (2) @0%060%E ergo§ e z0&dsr
(3) HEIS wrgof ud wodasr (4) &Q modadr wrgof

127. NITI Ayog stands for

(1) National Institute for Technical Investigation

(2) National Income Transfer to Individuals

(3) National Institute for Transforming India

(4) National Intelligence Training Institute

NITI &Trh S SrD00d

(1) KIS as Borgd $6 BEYES asIRTHAS
(2) TasS aldsd (@rSyHs & 20QAETrgISY

(B) IhdS asyBorgd H6 (@ )0y 0h B0& AT
(4) SEIS 200dBS) B9Noh adySergd

128. Nirmal Grama Puraskar is associated with which of the following ?
(1) Enlarging Forests (2) Expansion of Industries
(3) Rural Sanitation (4) Rural Electrification
QB S (a0 DB (Eod >3S* B’ Yo 0HoVDIH
(1) wdHo 208 (2) DO A0S
(3) (dom FoHEgo (4 (rom ISgHES

129. Which of the States is not BIMARU State ?

(1) Bihar (2) Madhya Pradesh (3) West Bengal (4) Rajasthan
(8o a&&® BIMARU o°h90 5208
(1) %6 (2) $gg (2TF (3) 93 Bord  (4) ocuPS
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130. Who has won the 2016 William E. Colby Award for best military book ? What is the title
of the book ?

(1)
(2)
3)
4)

Nisid Hazari
Logon Beirne
Douglas Mastriano

Thomas McKenna

Midnight Furies : The deadly legacy of India’s partition
Blood of tyrants

A new Biography of the Hero of the Argonne

Science and Technology in Military

wdedH Dowd (fogodH ady Do a §F v 2016 HoHSNEHNSEH 508
©HoV0d? & PIEo DT.

(1)
)
3)
(4)

SNE Tred
S*A°S BO)
EAOD HrP9d S’
P00 DB,

W& 3§ rgot : & BED BAL ©P 10835 FEAS
L6 ed Blody

D drg BrED vh & 8 vh § 08I

o) wobd Bsoe as Dovd

131. ‘Jorwe’ culture belongs to

(1) Chalcolithic phase (2) Megalithic phase
(3) Mesolithic phase (4) Ironage
T D00 )8 & 5P0odEH BobI
(1) o (@o3w ddwdo (2) Yo &3wr dSwifo
(3) Hogsg o0& dSwdfo (4) advs* s Swdo
132. Match the following

List-I List-11
(a) Bagor (i) Rajasthan
(b) Langhnaj (i) Gujarat
(¢) Bhimbetka (iii) Madhya Pradesh
(d) Sarai Nahar Rai (iv) Uttar Pradesh
S8 (508 TP 2SBDLWIHW

eI eIl

(a) &°6 (i) oreds
(b) wohod (ii) doezord
() D& &) (iii) Sogg (9TH
(d) Yoo $5°6 oo (iv) &8 (9TF

@@ ® (© (@
H O aG) 3> (@v)
2 @O av) @) (i)
(3) @) @)  (@Gv) (i)
(4) @(v) (@) @G) (1)
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133. Which of the following statements is not correct about the Rigveda ?

(1) Rigveda mentions Varna
(2) Slavery was not mentioned in Rigveda

(3) Sabha the assembly was mentioned in Rigveda

(4) Rajan occurs many times in Rigveda

beiscﬁéaozéév %0 000D B8 80d FIST D (HADESD Edpm 5@8”2;26 &ob :

(1) "$5g%0" %000 STgSH0 0600

(2) w0 EgHN’ H00D STgSHN DEYRIT S

(3) D %000 SHTgEIH ©E0d

4) ‘ore2l’ @b HEDE0I0 SoBeSdn e Horeosdner 8% 0
( 8 $ ’

GET IT ON
Google Play

134. Which animal figure is not found on the so called ‘Pashupati’ seal discovered at Mohenjodaro ?

(1) Elephant (2) Lion

FooFEE'ST  0HoBG DHDH L& WS D 2o FTHy TE) V2

(1) Do
(3) 9o

(3) Tiger

(2) oo
(4) B BoyHDd»

135. Match the following
List-1
(a) Kosala
(b) Licchavi
(c) Vatsa
(d) Matsya
& (800 I BEHBHW
-1
(a) §%o
(b) OBy
(c) $)
(d) S08yg
(@ (b (© @
H Gv) @ @) (i)
(2) Gi) @)  (Gv) @)
G @O @) @) (1)
(4) @) (@Gv) @) (i)

List-11
(1) Vaishali
(i1) Kausambi
(i) Viratanagara
(iv) Sravasti

de~—11
() 379
(i) 5°=~0d
(111) Dored g D0
(iv) (@

136. Arrange the four Buddhist Council meeting places in chronological order.
(d) Vaishali

(a) Rajagriha (b) Kundalavana

(c) Pataliputra

S5 (808 adg &% F7¢ Hodo JHITrVFInes wOAD (HTIBDOL (K Dopgs® (FPoindw.

(a) oredysr
(1) (), (b), (c), (d)
(3) (d), (0), (b), (a)

(b) Hodeddo

(c) >udH(¥

2) (b),(a),(0), (d)
4 (a),(d), (), (b)
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137. According to ‘Arthashastra’ the state is constituent of ‘Saptanga’. Identify the correct one.

(1) Svami, amatya, janapada, durga, kosha, danda and dharma
(2) Svami, janapada, durga, kosha, danda, mitra and kshatra
(3) Svami, amatya, janapada, durga, kosha, danda and mitra
(4) Svami, amatya, thataka, durga, kosha, danda and mitra

@g%”éjo (D5°8%0 ‘G"&So’ SIS wodno&® & dotnod. & Bo& FS° 6 DOOHoL

(1) Jrgad, wdrds, 208, &od, §%%, o L0005 =15}
(2) Jrgad, wIDE, &od, 8%, So& Do Hoddbn ¢ (&

(3) g, wIrSg, BIDE, $od, §%%, S0 Ho00%0 (S
(4) g, wdrds, SarE, $od, §%%, o0& o005 Mo

138. Which one of the following texts was known as the Bible of Tamil land ?
(1) Tirukkural (2) Silappadikaram (3) Naladiyar (4) Manimekalai

&8 (808 a0S® @ (odo SMF (Frod BASH HOHBoN Hr%0d.
(1) &8585 (2) 3FHHésedo  (3) SwbBrE 4)

260?330@;@

139. Identify the wrong pair

(1) Aryabhatta — Aryabhatiya

(2) Brahmagupta — Kandakadyaka
(3) Varahamihira — Brihatsambhita

(4) Bhaskara — Panchasiddantika
&5 (800 TIS® DO HOTHND @D

(1) esgafén — @65@’6?050

(2) ([ Sriondo — Sodsedgs

(3) HFEe TSk — )& 8dowrd
(4) 20y Backd — Xvo::ﬁ?og;o@é

140. Which of the following statements is wrong ?
(1) The founder of Madyamika School of Mahayana Buddhism was Acharya Nagarjuna
(2) Yogachara School of Mahayana Buddhism was founded by Maitreyanatha

(3) Aryadeva and Buddhapalitha were the followers of Madyamika School of Mahayana

Buddhism

(4) Shantideva and Chandrakirti were the followers of Yogachara School of Mahayana

Buddhism
& (80b ms’gsﬁwmeﬁ's D6 DO 0Pos 57

(D @a"ds Frgodod HoFATS TG HoEB0O0 S¢S gwE i’og;oé J°0 (D asodN D0

@*’0305269

)
3)

(4)

33@?053 TP B0TFASTD S GHEDHN008 TWrH @S DErod JPo(DT 0k FRoT

@65 THch LoB8w Jé@“@é&éﬁs PSVPOLTOVOAIN) 2315553305%:0 éj"dgé}aé :ocst’oéé @oL@woﬁaéaozéa
Ol 00DoWIE

308 8@6@3 pveteYenty) éo@ﬁgé VSR SLTON B AN 23”65253@533@5'350 ool awoé J°O (TP O30
0N OWIE
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A

Name the Delhi Sultan who called himself the ‘Shadow of God’.

(1) Balban (2) Alauddin Khilji

(3) Mohd. Bin Tughlaq (4) Firoz Shah Tughlaq
T3 BTHY DB 0 CESRCESNY 8O Ll B2

(1) wroys (2) ovgrsbdS 9O
(3) BT 8 A Sif§ (4) 6°EF > SHA§

142.

Assertion (A) : The arrival of North Indian Sufis into the Deccan in the 14™ and 15%
centuries brought deep changes in the political and religious fabric.

Reason (R) : g%ley came to justify Khilji and early Tughlaq invasions of the Deccan
ateau.
Answer is :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3) (A) is true, but (R) is false

(4) (A) is false, but (R) is true

EBFSZ (A) 1 14 H0d%0 15 dor_s0od® g8 rddTy DD T SELS

(roddndE orddo du, &8 (Frod ores 8050 K08 DH Sdne S
S*BS Srdoyes voFdodToow.

¥ (R) @ &% DD D8 DO 508050 &O Hod§ SodasrBodd Jegodd o

THS0es 3rd FhHes & ([FosdE DT,
Ddrprdo
(1) (A) %8050 (R) dz=o (R), (A) & 2000 258
(2) (A) 0050 (R) Todr Jzzo 520 (R), (A) & D80T Dd8es 52
(3) (A) dzo 5 (R) oy
(4) (A) 85y 570 (R) dzo

143.

Assertion (A): Alauddin Khilji prohibited the sale and use of liquor in Delhi.

Reason (R) : He wanted to uphold religious and moral standards of people.

Answer is :

(1) (A) and (R) are true. (R) is the correct explanation of (A)

(2) (A) and (R) are true. (R) is not the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

BeFrES (A) @ Hodgo (ErierR) D005 ©0 57000 q%@ 880 S0 @QE 5)@
oo,

sod0 (R) @ oo @éE é)é? (Do BVnE) IBE N0 HE (Ddrednedd Eégcg
3053;63§ (D80 Bdo.
DIFEI0

(1) (A) %8052 (R) dzo (A) & (R) 900308 286

(2) (A) 00050 (R) Qzo 520 (A) & (R) 000305 258 500
(3) (A) Q=0 5 (R) Dy

(4) (A) 85y 570 (R) d=o
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144. Warren Hastings’ experiment of auctioning the right to collect revenue to the highest bidder is
almost similar to
(1) Poligar System of Vijayanagaras
(2) Iqgta System of Delhi Sultanate
(3) Jagir System of Mughals
(4) Izara System of Mughals

SrEnod TOo IR, wdepsom Soo >&S 08 ESRSSRRENISIO BT woH5It0 ?523}3 EotedS)
TP0A Ardn Q AILnd T sod.

(1) DzhsHd ocwre soord >BmY Hg0

(2) @9 e stoosE ‘asT AGEHDN '

(3) Bndeve soomd WAl Sg5%

(4) Bodeno sPoo°E QRO JF°D 0N

145. The Indian member in Viceroy Legislative Council who resigned in protest against Rowlatt Bills
in 1919

(1) Tej Bahadur Sapru (2) B.D. Sukul
(3) M.R. Jayakar (4) GS. Kaparde

1919 fooéégéoeﬁ% o& DO é§@3§0ﬁ° o FTOIL0U%d Lok ocETd B2d
T2 You ey D872

(1) 8 & &6 DR (2) B.D. %0&%&

(3) M.R. 220588 4) GS. 9XD§

146. The following states share border with Uttar Pradesh

(a)  Punjab (b) Rajasthan (¢) Chattisgarh (d) Jharkhand
Correct answer is

(1) (a), (b), (c) and (d) (2) (b), (c)and (d)

(3) (a)and (d) (4) (a)and (c)

(Bod o0S® wd8 (HTTE’ DOTEy Ko orargen D 2

(a) Doerd (b) oredrs (c) w8896 (d) =go&
DB Ddrgrdo

(1) (a), (b), (c) L0805 (d) (2) (b), (c) S08050 (d)

(3) (a) $0605» (d) (4) (a) Ho00s0 (c)

147. The state having largest area of forest cover in India is

(1) Madhya Pradesh (2) Assam

(3) Arunachal Pradesh (4) Haryana
PESTH0S® wdghE Voo widHw fo oTwhgo

(1) ogg (937 (2) oo

(3) wSHarSS (HTF 4) Soogd
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148. Match the following

List—I List—II
(States) (Boundaries)
(a) Tamil Nadu (i) Maharashtra, Karnataka, Odisha and AP
(b) Tripura (i1) Pakistan, M.P., J] & K, Haryana & Rajasthan
(c) Punjab (ii1) Bangladesh, Mizoram
(d) Telangana (iv) Kerala and Karnataka
228 HBo80Hd0
eI eIl
(o°F9e2) (385> gowo)
(a) SlFordo (1) HoHPorRy, Eorvs, a8, wo(§ (DTF
(b) (8D (i) 8IS, Hodsg 535 sy wok 51583,5, Grorgd D805 ma%‘%
() Hoerd (ili) orBF, w0
(d) Boworre (iv) B8¢ %0050 Eor o¥

The correct answer is
ISEESIIRSEESLI aLbS Pty

(a) (b) () (d)
(I Gv) i) () (1)
2 @ (i) @) - (@1v)
(3) (Gv) (i) (1) (i1)
@ @) (i)  (v) (i)

149. Read the following
(a) Tropical forests are found in Andaman and Nicobar Islands
(b) Monsoon forests are found in Shiwalik Hills and Chotanagpur plateau
(c) Hill forests are found in Southern India and Himalayan region
(d) Tidal forests are found in Central India
Bod (DIWSDner w5 So)dmw
(a) &g HHode wdHer Loddrs $005» I8 HHos® Iy ow
(b) S5 wdHes 33008 §oden 0dn SPer YRS HEPrd (@Podod® EJyJon
(c) S8 83 TFo Hdbw P Irech (Fozrod® DEIE (T0E @EHOIT) 0D
(d) o 88H wdHo g IS THoSt €D 0
Which of the above is wrong answer ?
= Lﬁaéﬁééwwéﬁ NI ED
1) () @) () (3) © 4 (@
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150. Assertion (A) : A rapid growth in population has been recorded in census since 1921.
Reason (R) : India’s death rates declined gradually since 1921.
Correct answer is :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false
(4) (A) is false, but (R) is true

BOFXSS (A) 1 1921 =aryr BE o DES 008 PSS THoS® ©d %Lﬁpo@aé 2 ICY™
ég@ NISSLISRIAR
% (R) 1 1921 Jod8y80 hard erddTF0d® Dodere Téw (Edoom EHo0b.

ISHCESIIRSPSSAIALPVP S I
(1) (A) %8052 (R) @ Todo o 0050 (A) § (R) H8 B0 dd5Tes

(2) (A) 00050 (R) @ Bodor Jezo 520 (A) 8 (R) 000D Qe 5°¢h
(3) (A) d=zo (R) Edyp
4) (A) 89y (R) dzo

151. Which of the following regions is first affected by the south-west monsoon ?

(1) Kerala coast (2) Coromandel coast
(3) Himachal Pradesh (4) Bihar

SH8  0HDIT 0 TG J STY/(FoTR) T KT 00?2

(1) B¢ 8o (2) §8H08S dF0
(3) T3S (DTF 4) D56

152. Assertion (A) : West flowing rivers of peninsular India have no deltas.
Reason (R) : These rivers do not carry any alluvial sediments.
Correct answer 1is :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false
(4) (A) is false, but (R) is true
PEFES (A) 1 8 éséé@goeﬁ”g DEBE BH (DIW0B IBeH By 3D.
s¥odn (R) @ & %o om0l 2ok ©dF oo [rTE.
ISHSESIIRSPINAIALPVP S I
(1) (A) $0005» (R) Bodko dezo H080%0 (A) 8 (R) DO0S VST

(2) (A) H00050 (R) Todky dezo 570 (A) 8 (R) 20030 Jder 5°¢5
(3) (A) Q=0 52 (R) Dy
(4) (A) 85y 570 (R) dzo
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153. Match the following

List-1 List-IT
(a) Banihal pass (i) Jammu & Kashmir
(b) Rohtang pass (i1) Himachal Pradesh
(c) Niti pass (i11) Uttarakhand
(d) Nathu La pass (iv) Sikkim
&5 (800 A0 wEDHBHW
ko | eIl
(a) Jd&d >0 () =0y & ?%3’5
(b) &G B0h D (i) WIS (HTT
(c) Ad D (iii) sdorpo&
(d) & D (iv) 280

Correct answer is
$BS ddrgrdo

(@ (b ( (@
(I Gv) (@) @) (1)
2 @O @a) @) (@v)
3) @Gv) (@) @@ (1)
@4 @ a) (aGv) (i)

154. Assertion (A) : Major Industrial regions of India have developed in the immediate hinterland

ports of Kolkata, Mumbai and Chennai.

Reason (R) : The ports provide access to the raw materials available in the hinterlands of
these ports as well as to the world markets.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3) (A)is true but (R) is false

(4) (A)is false but (R) is true

PEFES (A) 1 PrESTHoS ™ §'S¥E, BwoBow HOdn BF) &d THOH LB &)
PHE (rozrod’ @6@%3)3% @1’0@*@3 e ©dDd)HTowon.

s8ede (R) @ 8 4d THoo $¥ PFRE (roerod® 0o Hwd HEHod oL 8
$00%0 (Do HrT)fod VI8 wloHm &I ow.
(1) (A) %8050 (R) @ Tod Jdeo o005 (A) 8 (R) H830S8 dd5Tes

(2) (A) 00050 (R) @ Bodor Jezo 570 (A) 8 (R) 0000 e 5°¢h
(3) (A) =0 5 (R) Edy
4) (A) €5y 59 (R) Q=0
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155. Match the following

List—I List—II
(a) Manganese (i) Madhya Pradesh
(b) Nickel (i1) Odisha
(c) Lead-zinc (i11) Rajasthan
(d) Asbestos (iv) Telangana
228D B080d0
eI erde-I1
(a) Sroddbo () o83 Bkl
(b) d3S (i) 2&Jy
() 20Hw-20f (i) o= S
(d) o2 (iv) Booms

@ b  © @
) G Gy ) ()
@ v Gi) G ()
G O G i) ()
@ (v G Gi) 6

156.

Which one of the following is/are primary economic activity/activities ?

157.

(a) Transport (b) Communications (¢) Mining (d) Farming
Correct answer is

(1) (c)and (d) (2) (b), (c) and (d)

(3) (b)and(c) (4) (a)only

(Bod TAS® A8 HdD (¥ @Qé s*’dgée?@'w SESHB8 Todehod?

(a) e (b) ééwsé’&éiaéo (c) oo (BHg¥0 (d) Hgsd a0
VB DIrgrdo

(1) (c) 0800 (d) (2) (b), (c) H2803%x (d)

(3) (b) 00032 (c) 4) (a) srESD

Which of the following are the chief sources of hard wood timber ?

(a) Broad leaved evergreen forests (b) Broad leaved deciduous forests
(c) Evergreen coniferous forests (d) Needle leaf deciduous forests
Answer is

(1) (a)and (c) (2) (a),(b)and (c)

(3) (a)and (b) (4) (a), (b), (c) and (d)

Bod TUS® T o0& (derdom HE Eod 0ok ?

(a) V&8 wHeo o VEET0E wdHon

(b) Jdory8 sHeor o sHoT)Y wdHeo

() DESL0E Fyomrs Iy edHeo

(d) 270 3ol vs°8Y sHHo o 9B wdHo

ISHSESIE-TL

(1) (a) H0080520 (c) (2) (a), (b) 00030 (c)

(3) (a) H0005x» (b) (4) (a), (b), (c) H00050 (d)
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158. Consider the following crops
(a) Cotton (b) Groundnut (c) Rice (d) Wheat
Which of the above are Kharif crops ?
(1) (a)and (b) (2) (b)and (c)
(3) (), (b) and (c) (4) (b), (c)and (d)
(Bod Hovedn HdRDoWL»
(a) ©& (b) TS¥S548 (c) Dadogo (d) &°csodoen
D 58S 2 9869 Hoved
(1) (a) $080%» (b) (2) (b) 2008030 (¢)
(3) (a), (b) L0000 (c) (4) (b), (c) 00030 (d)
159. Which one of the following shipyards makes warships for Indian Navy ?
(1) Vishakhapatnam shipyard (2) Kochin shipyard
(3) Mazagaon shipyard (4) Paradeep shipyard
P88 TEe8 STOYS g Tl Saird T Isefoko
(1) dwpdon I°so(Faso (2) &VYS Is°(¥0
(3) Hozmmrd I°s(¥odo (4) >8LD Is°Fodo
160. Who among the following tribes live in the Union Territory of Andaman and Nicobar Islands ?
(1) Apatani (2) Munda (3) Santhal (4) Jarawa
(Bo& TS O SHew To(¥ FOS (FoSFd ©odHrS-IE° Fod® JHDLT 6?2
(1) o5z (2) Ho0dk (3) dos&d (4) =oeoe
161. Which of the following is not an objective of Swachha Bharat Mission ?
(1) Hygiene (2) Waste management (3) Sanitation (4) Beautification
(808 &ES® IO gy eSS WAS ©F go 52
(1) e—s&’sﬁg S e (2) $g8 Vg (3) >dHgo (4 oLbEboWGO
162. Read the following statements

(a) Infant mortality means the death of a child less than one year of age.
(b) lI)nftaﬁlt mortality is the number of deaths of children under one year of age per 1000 live
irths.

(c) Poverty of the family is the only factor, that contributes to infant mortality.

Which of the above statements is/are correct ?

(1) (a)and (c) (2) (b)and (c) (3) (a)and (b) (4) (a), (b)and (c)
Bod (HHWSd0en WehpwHw

(a) % Soderor wdmr HodE o YrosHoars 3HY) LodBotdo

(b) 1000 =dzres® ?oo?éégdoég@ LT oS Yo Jowg wrdom 39 Lodero dowgdo
Vg oI 8>

(c) %o HES6¥o a§2r€§ 3% Soderod 2800

D (D3 TId00® D6/JD Jdmo?

(1) (a) %2805 (c) (2) (b) $5005» (¢)
(3) (a) %2005 (b) (4) (a), (b) $>605% (c)
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163. Match the following
List-I List-11
(a) Golden Fibre Revolution (1) Fertilizer
(b) Gray Revolution (i1) Onion
Ec) Pink Revolution ii1) Petroleum products
d) Black Revolution iv) Jute production
22 S DHBWH0
Ear Ao | Al | |
(a) omd Do QYHo (1) S
(b) &S Joih QDo (i1) “OJrcsoen
() dowrd oM QDo (iil) »(&*Ocso0 SRR
(d) S0 29do (iv) 2% sENE
(@ () () (d)
() @) (i) (i iv)
(2 ?Vg (1) il iii)
(3) (@) (v) (i (1)
(iv) (i) (1) (1)
164. Match the following
List-1 List-1T
ga) Zamindari system 1)  William Bentinck
b) Drain of wealth i1) Thomas Munro
(c) Mahalwari system 1i1) Lord Cornwallis
(d) Rythwari system (iv) Dadabhai Naoroji
22 EDHGod0
-1 eI
(a) =dowd JgeddHw (1) JOoR> Boe3s
(b) (Pardrom Ho B0 (i) @l Ho$°
(c) o Sz0 oge (i) o~ 5670
(d) Begd vS8 (iv) ocareron 3°6°
@ ® © @
(L) i) (Gv) (1) (i)
(2) (1) (@) (@) (@1v)
(3) (iv) (i) (i) (D)
(4) Gi) (@v) @) (1)
165. Consider the following statements about key features of ‘100 Smart City’ project
(a) Automatic traffic signals
(b) Better public transport facility
(c) Face identification system to catch criminals
Which of the above statements is/are correct ?
(1) (a)only (2) (a), (b) and (c)
(3) (a)and (b) only (4) (b)and (c) only
(Bod (HHWdP0en HOROOWIDIN
100 @o& 3o e’ (BE Sweg ofsreo
(a) %gofo SO (rH§ Jd%oEm FOA sodwo
(b) &g (Perdarn JEorgeroddo
(c) V8ol H00d “Hop K00 HgHV 0 EOA Godwo
B (HBBSB008" JO/AD Jzo? ‘
(1) (a) S-(&o (2) (a), (b) $0805» (c)
(3) (a) L0008 (b) S (&> (4) (b) %5805 () S (EDo
IS 2016 A 45 G



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

ikl

A

(a) The first hour of every parliament day is reserved for questions

166. Read the following statements

(b) Zero hour is a typical Indian innovation in the field of parliamentary practice
(c) Judicial control over administrative acts stem from natural law

The correct answer is/are

(1) (a)is correct, (b) and (c) are wrong

(2) All(a), (b) and (c) are correct

(3) All(a), (b) and (c) are wrong

(4) (a) and (c) are wrong and (b) is correct

(8o (HHWSLoen WeksyHdo

(a) (98 && >ID0od FodS Hob DHHC0 (HF°)ESSne §ELH Bewrowow &od
(b) FIToowd Foprrdired® rEETY Jogn D) Hrdg dob (B8 ©db)
(€) 5°8gRBgETE WIgo D I°gas Va0 (Een VTP J°gO30 0d WS

DTS Ddrrddw

(1) (a) dzo 522 (b) H2065» (€) @ BBy

(2) (a), (b) H00050 (c) @ @5; De2o

(3) (a), (b) 00050 (c) @ @5; BBy

(4) (a) $20052 (c) @ SDHy HH05» (b) Jzo

167. Supreme Court of India enjoys the power of ‘Judicial Review’, which means the power to
(a) Review the judgements of State High Courts
(b) Review the functioning of the Council of Ministers
(c) Advise the President of India
(d) Decide the constitutionality of an Act passed by the legislature and order of the executive
Correct answer is
(1) (a)and (b) (2) (b)and (c) (3) (d)only (4) (c)and (d)
P8 (D0 §°G ‘Trgoh DabE ©65od) EON $0d. TYoH DdF wdm

(a) o°h9 I8 Ge Sdhyos DA otdo

(b) %00(8%0080 Jowds D oWEo

(€) 2788 0P 988 VoHt adgdo

(d) 703 79 &BrHoS Igreo, 5°YgAT T E T ST orerrgod Cgé;éo Qgonowob
ISHSESIRSESSLIARMSRIRY

(1) (a) %2005 (b) (2) (b) %2605 (¢) (3) (d) Ho(&Fo (4) (c) %805 (d)
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168. Which of the following pairs is correctly matched ?

(a) ADM Jabalpur Case :  Rights of Citizens under Emergency
(b) Vishaka Case : Centre State Relations

(c) Indira Sawhney Case : Rights of Women at work

(d) Kartar Singh Case  :  Rights of Minorities

(Bod S HTD wd 0?

(@) 2.8.08. = SGrd ez gD D odghd8 D08 J00WD HHo0%0S® Y %oy @0
(b) Dy Fragdn . Bo(8 o°g9 Do ogren

(c) mobo® VHI Frwgdo 1B (9BHos® LW Fo [SAECSPASS

(d) €025 20h sregsn ;. Dorode TrE) o

Correct answer is
0TS DdrErddn

(D (a) 2 ® ) (© 4) (d

169. Consider the following statements

(a) The First National Commission for Scheduled Castes and Scheduled Tribes was constituted
in the year 1992

(b) - First National Commission for Scheduled Castes and Scheduled Tribes was constituted
under 65" Constitutional Amendment Act

(c) C.H. Hanumanthappa was the chairman of the First National Commission for Scheduled
Castes and Scheduled Tribes

Which of the statements given above are correct ?

(1) (a)and (b) (2) (b)and (c) (3) (a)and(c) (4) (a), (b) and (c)
[Bod (PSSSImen HOEDOWD®

(a) B erd ok RETrGS Horos H0B» RErgS o D008 1992 :“oozéé‘)dzéoaé*
Qoo Boss &od

(b) 65% orergod BI8ew argon Bodes 22°& 0% RErgS Horo KO wdrgd o
E0a s DO""D@O D% &od

(c) «&as RErgS Horo Hhoddn NErgS B EDAS Bnse BER D D,

[SARSEESSICT RSN
23 aw)d Lééié:é:éooe;& NI ISR
(1) (a) $080%» (b) (2) (b) 2008030 (¢)
(3) (a) 0005 (¢) (4) (a), (b) H0060%: (c)
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170. Consider the following statements

Proclamation of ‘State Emergency’ under Art. 356 can continue beyond one year if

(a) The High Court of the State certifies that the situation in the State is very serious.

(b) The Governor of the State certifies that law and order situation is not under control.

(c) The Election Commission certifies that it is difficult to hold elections to the Assembly.

(d) The President is satisfied about the grave situation in the State through independent

investigation.
Which of the above statements is/are correct ?
(1) (a)only (2) (b)and(c) (3) (c)only (4) (a)and (d)

[Bod (PSSInen HOEDOWD®

‘9956_ 356° (o580 2.8 Tél?oef’ ©&eH0Y Xv@?g@@ 2.8 DodE G0 o) IR0

(a) & U"X&?oeﬁ's BP0 éé?géo@om;oﬁob © 0°Q9 j’_mgsé Dg"@odéﬁéo

(b) 008 908° 708 P SEwo wSHPHS® B (H8 6 Dgr0owWH BB

(c) & CPX@l?oé”S @“iooé:.} d)E0 AW 0LE0 ERHQ DV EO Do Vg00WHTI

(d) 9808 H0FES oo BewwE™, 0°R908° @Léﬁaa?géooo ?é@ﬂﬁoéoa"ioﬁo&) TH9HE
Vo&D BodHTH

D (PFTId00s® 20/2 Jeo?

(1) (a) d(&o (2) (b) 006052 (c)
(3) (c) d-(&o (4) (a) H000320 (d)
171. Read the following

Afrﬁember of'a House belonging to any political party shall be disqualified from being a Member
of House.

(a) If he is expelled from the party.

(b) If he has voluntarily given up his membership of such political party.

(c) Ifhe votes or abstains from voting against the whip of the political party to which he belongs.
Which of the above statements is/are correct ?

(1) (a)and (b) (2) (b)and (c)

(3) (a), (b)and (c) (4) (a)only

(Bod (HHWSD0en WehpHw

0.8 o8 osd @"é § Bodd 705 Dghgdko (8od X)G?géo@é’s E3 T3 DYPgegd8 el
S E.

(@) S5 FQ H0d R DHTID P&

(b) &5 8D Dgsyosomr SO DYID ko

(€) &3 >§ 0B IDH Hg8TEomr 1S JPFS® 4w IDIdypds Boo Ggrad

©00ID Pk
(DB SISd00s® A6/2D Jeo?
(1) (a) $0605%» (b) (2) (b) 2008052 (¢)
(3) (a), (b) H00030 (c) 4) (a) dr-EDo
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A

Assertion (A) : The Parliament is empowered to alter the boundaries of any existing State of India.

Reason (R) : Abill pertaining to the alteration of the boundaries of any State can be introduced
only in Rajya Sabha.

Answer :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(3) (A) is correct and (R) is not correct

(4) (A) is not correct and (R) is correct

PSS (A) : THoS® &D8S® Ko 0°09 DOTP oI ST ©§5E0 FEF0EE
.

sEmdn (R) @ 0°h9 D0 Grod 0Ty Deods THoo orag VFST (VI BT,

DIFrEd0
(1) (A) %8052 (R) @ Bodo o 8050 (A) 8 (R) H8 B0 dd5Tes

(2) (A) H00050 (R) @ Bodor Jezo 520 (A) 8 (R) 000D Qe s°¢h
(3) (A) Q=0 (R) 8Dy
(4) (A) 85y (R) dzo

173.

Read the following

(a) The provision of All India Services are explicitly stated in the Constitution of India.

(b) The provision of National Development Council is not stated in the Constitution of India.
(¢) Stamp Duty is levied by the Union, but collected and appropriated by the States.

The correct answer is

(1) (a) and (c) are correct but (b) is wrong

(2) (a), (b) and (c) are correct

(3) (a) and (c¢) are wrong but (b) is correct

(4) (a)and (b) are correct but (c) is wrong

(Bod (DLTreko Whg)Dn

(2) ©do -8 Hoge J oFdes PrdE orergoos” Dyhom WE TS

(b) w@oﬁr@ég@ $080 (dXIS rdE orergofod® B

(c) FoR &gl To($o G008, TraryLr B HVrer BHE D DV TITA0BE*HWo
DT a9

(1) (a) 20052 (c) dz=o 57 (b) SDy

(2) (a), (b) L0805» (c) @ dezo

(3) (a) £2005» (c) @0 Dy 570 (b) 2dy

(4) (a) $520050 (b) @ 2Dy 52 (¢) Dy

174.

Conventional energy source is

(a) Solar energy (b) Wind power (c) Bio-gas (d) Nuclear power
FO(DTO A0FD HIHH eedhn

(a) drdg 48§ (b) X5 48 () Br-amgd (d) o0 %8

(1 (a) (2) (b) (3) (o) 4) (d)
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175. Who among the following Presidents of India was associated with the Trade Union Movement in
India ?
(1) V.V.Giri (2) N. Sanjeeva Reddy
(3) Zakir Hussain (4) R. Venkatraman
T8 R 9DvHOS" 50 8 sdgdres o oo Fomdd
(1) 2.9. Ad (2) A8 bokd TS
(3) 2T T3S (4) 6. IoEHTr S

176. Find out the wrong pair concerned with Burgula Ramakrishna Rao Ministry in 1952.

(1) Mehdi Nawaz Jung — Public Health and Public Works
(2) M. Chenna Reddy — Agriculture and Planning

(3) Digambar Rao Bindu — Home

(4) Shanker Dev — Education and Village Development

1952 &° Q&S o ookE)aroed) %008 HEX0DEH B0 0§D VO ) wd AB?
(1) B0 S woh — (Derdiigdom, (Derddoo

(2) Qo. V) TE — HgHI0Hn H0 A0 (DT

(3) &do Sord) Doy — wodFohE SgdTPored

(4) 4085 TS — D&y Ho005» (e SRR

177. Name the leader, who presided over ‘Telugu Bhasha Samithi’ meeting in July 1955 and asserted

that “Culturally Vishalandra was already a reality”.
(1) Konda Venkat Ranga Reddy (2) Burgula Ramakrishna Rao
(3) Madapati Hanumanth Rao (4) Mandumula Narsing Rao

1955 &8 $r050¢8° 2000 Beokh grar DN DITrTTIE wgES HWPHr “Iody yBLom
DFoPo($ &8 PrHdm ad BT HarFod.” ol FgergdoNod.

(1) So@ Vogd Somr TE (2) o ocdEyarocd)
(3) Srdard GelodosTed) (4) Ho0Sdne S8yoHorD
178. To oppose Sanjeeva Reddy ministry in 1963 who said “Andhra Government, seem to be a
Government of the Reddys, for the Reddys and by the Reddys” ?
(1) T.N. Sadalakshmi (2) Konda Laxman Bapuji
(3) S. Nagappa (4) K. Rajamallu

1963 &° ;3653&26 $0EHTE (DehBgHnd ég@égrﬁ{z Yoo (PeDSgHm, Bé@ (Do &gk,
Tho 5% 0000 TEoT o argergdood

(1) 8.93. dorofd ) (2) Fow of)5 P

(3) 2. >AD) (4) 3. oredoo
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179. Before the States Re-organisation Commission many leaders expressed the opinion that the merger
of an advanced region like Andhra with a backward region Hyderabad State would lead to
(1) Backwardness (2) Development
(3) Disintegration (4) Internal colonisation

orEl9o YBE defed EQDAS $00d o $00d rohHed Tew 20D WP (Eraidn (HEeEw
“&9@59%30&26 @o(Forodl L@oéoéﬁ SHE & ([FoEDS rdorard 0o 950 098
©d @od%omr &8 b B0%0dD rYowd.”

(1) Blo&eren &350 2) &9@263(2
(3) I 08 (4) ©0ddg LHodH

180. Which one of the following statements is not correct ?

(1) According to Gentlemen agreement, future recruitment to services will be on the basis of
population from both sides.

(2) GO. 610 was issued to rectify the lapses in implementing the Presidential order and injustice
meted out to Telangana people.

(3) According to the Gentlemen agreement the Cabinet will consist of members in proportion
of 50 : 50 for Andhra and Telangana respectively.

(4) In 1953 the Government of India constituted State Re-organisation Commission under the
Chairmanship of Justice Fazal Ali.

S8 (800 (DHWI00S® DB DTIO 57872

(1) Bg Hodote adyoddn (Hsddn FARgh® adies’th JdrHsod) aoryr
(FEHOET adifozromn.

(2) 2.4. T0. 610 H dSe TV0d TCHIHS SE L BHIST BEHSIS) SIS
D088 Soomrn (DROXH BEHNIEIS) WI*GOHNOS Jaed o3 Q& 5.

(3) & NBoR® 2HHodsHN (DsTEH o7A 9 5152‘3)3&5&3”5 g8 (FroePO) ©o(F-Bwonrs
(Froere 08 $o0(® D&Hoo 50 1 50 0 HBS® sowed.

(4) 1953 &° o8 (Pehdedn =P pud ®d 3@3«550@’5 R IBNO YIG dFud
a0 Jo%oVos.

181. Who was the editor of Telugu version of ‘Meezan’ newspaper ?

(1) Madiraju Koteshwar Rao (2) Dasharati Rangacharya
(3) Devulapally Ramanuja Rao (4) Adavi Bapi Raju
el HBE Benth (HB8 9B JEOET $0&?

(1) Sroorer 85846 o (2) =488 Sommrdogen
(3) THOHO ocrdrdrwoeD) (4) @3 erdore
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182.

Match the following
List-I

(a) Leader

(b) Jai Telangana

(c) Tenugu Vani

(d) Telugu Gadda

GET IT ON
Google Play

A

List-11
(i) Mamidi Ramakanth Rao
(i1)) Munir Jamal
(ii1) P. Janardan Reddy
(iv) S.Satyanarayana

S8 (800 @A 2SBDCodw

a1 eI

(a) &&& (1) Hrwd Fdrstodord)

(b) = Sworre (i) 086 2dHrd

() BloKs a°ed (i) ». =rgS B

(d) Seoif K¢ (iv) 9. dEgarorasom
@ ® (© @

() @) (@v) (@(i) (1)

2) @) @) (Gv) (i)

(3) Gy (@) (Gv) @)

(4 @) @) @@ (@{v)

183. As a part of the Economic reforms and on the recommendations of World Bank, the then
Andhra Pradesh Government divided Andhra Pradesh Electricity Board into
(1) Generation, Transmission and Construction
(2) Generation, Transmission and Distribution
(3) Hydel Power, Solar Power and Thermal Power
(4) Distribution, Construction and Transmission

e:s@§ @oazrdsaéaoé% erifomr 0a%n (Do &)‘°§O§J drddedh odfhomonr &903(38 CTe]{a
@3% o°h9 (Hebdgo oPRY Dcﬁagégé 25%63263 $3°860 (oocooom DFEoNo.

(1) &838, dEHo° S8 as» 2’002990
(2) &8)8, DEHo° H5003B» DoweEd
(B) =0 ISgE, Ford DSogLy B0 FE S DSogEy
(4) Dowed, Jorywo B0 DIHor
184. Which one of the following statements is not correct regarding 1969 Telangana movement ?
(1) Telangana people questioned the idea of Linguistic State : A.B. Vajpayee
(2) Telangana people will not accept less than Regional Autonomy : C.C. Desai
(3) Prime Minister should consult Telangana Prajasamithi leaders before anouncement of any
statement in Parliament : K. Manoharan
(4) Prime Minister should take political solution to the Telangana movement : K.L. Gupta

1969 Soomre 665&53263326& Do ohow ¥s L%o& Lﬁaézﬁééme)é's D0 66@326& 550

(1) Sworre Loaaseao gl (20308 0PR 9dNO Il (D3 owIEd ¢ A.B. aredron.

(2) Sowormre (Heo @"o@oﬁo 05080 DTTORE (DBDE 0T S & (DB, LI™ ®0NEd0WE:
C.C. Ba~ow.

(3) FEowd® BoomrnD (HEdH0(8 O (HEOIL B H00d Svomrsn (HerHdR S
05 %r0%9 @o@&o@@ K. S 8.

4) L@W(‘éc‘éoo@ Boomn GdgHI0NIE e §0%o DO ar) B0 ézéoé’azyc‘é@oﬁoozéo :
K.L. fizad
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185. Match the following

(a)
(b)
(©)
(d)

List-I
Porakala Dora
Whiteman
Sahu
Ganapati

S8 (808 3R BNk

PR |

(a)
(b)
(c)
(d)

(1)
2)
)
4)

P &Y
SIS

PO AN

lef--RaYs)

(@ b ( (@
@) (Gv) @) (i)
) (@ (Gv) (i)
i) @) () (@)
vy @) (@) (i)
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List-11

(i) Shanigaram Venkateshwarlu

(i1) Dasari Laxmikantham

(iii)) Muppala Laxman Rao

(iv) Ekkaladevi Sambashiva Rao

rde-I1
(i) 43680 ToETVHgY>

(i) o°%0 ©§ys70g0
(iil) Soary¥ oF e oo
(iv) & 0TI JFo LK)

186. Match the following

(a)
(b)
(©
(d)

List-1
Hiten Bayya Committee
Gangopadyaya Committee

Koneru Ramakrishna Rao Committee (iii)

Subramaniyam Committee

S8 (808 370 2SBNLodw

(2)
(b)
(c)
(d)

(1)
2)
)
4)

eI
8 dsrg e
(‘foﬁsé"qy’goﬁo g3
§' 38 oHE)ro) e
Qo Hoewgo Eod

@ @® © (@
(i) (i) @Gv) (i)
(i) () @Gv) @)
) () (@v) (i)
() Gv) i) (@)

(®
(ii)

(iv)

(1)
(i)

(iii)

(iv)

List-11

Salaries and pensions of the Government Employees

Electricity
Public Sector Industries

Higher Education

rda-I1

HSG Doobn éﬁssﬁoe LIFSgdnod, Podd

3)6535755 g
@33.3’0@3 o doJen
ed)E A8
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187. Match the following

(2)
(b)
(©)
(d)

List-1

Jai Bolo Telangana

Shadow lines

Still seeking justice

Nyayam Kosam Telangana Nirikshana

S8 (808 3R BN LWodw

(a)
(b)
(©)
(d)

(1)
2)
)
(4)

PEATA bR |
B 5°S° Boomrm

I& BEN

?geS_ %80/ 23?85

50300 §7ho-Boomn 0K e

@ (b (9
@ (i) (Gv)
@) (D) (i)
@) Gv) (i)
i @O @)

(d)
(i1)
(iv)
(iii)
(iii)

A

List-11
(1) Shanker

(i) Prem Kumar Aman
(iii) K. Chandrasheker Rao

GET IT ON
Google Play

(iv) Osmania University Forum for Telangana

Ra-11
(1) %0&8&

(i) (o0 %36 oS
(iil) 3. So&FE o)

(iv) &y Q0sr 05838 P80 HE Bworren

188.

Match the following

(a)

List-1
V. Prakash

(b) Bhoopathi Krishnamurthy
(¢) Muralidhar Deshpande

(d)

Akula Bhumaiah

& (800 B 2SHEHBoDED

(a)
(b)
(c)
(d)

(1)
2)
)
(4)

PR |
Q. (dse@
PrOS £y Hord

$08936 BTrod

eHo FrH005 IS
@@ () (0
(iv) @) (@)
(i) (v) (iii)
(1)  (iv) (i)
@iv) (i) (1)

(d)
(iii)
(i)
(1)
(1)

List-1T

(i) Telangana Janasabha

(i) Telangana Mukti Morcha
(iii) Telangana Mahasabha
(iv) Telangana Prajasamithi

a1l

(i) SBoomrm =d e
(i) Bwomrem H0§ Ird)
(i11)) Sewonrs Ho0H8dY

(iv) Soormren (da H0d
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189. The Government of India appointed a committee under the Chairmanship of A.K. Anthony
to look into the issues concerning the proposed division of Andhra Pradesh State and to
workout the modalities related to the division. The members of the committee are

(1)
(2)
3)
(4)

Digvijaya Singh, Ahmed Patel and Mallikarjuna Kharge

Digvijaya Singh, Veerappa Moily and Gulam Nabi Azad

Digvijaya Singh, Veerappa Moily and Ahmed Patel

Digvijaya Singh, Ahmed Patel and P. Chidambaram

©0o(& @85 0"y QPwd @rgor &égégféoﬁog [SESRISIURIY HoNS s 8%8 ¢
HOFY FHIE S drdder aB)y IWEDo edE (Hehdgo AK. ©ofd egggsd
8 08I JooNod. & EWSSED {ozp’oseaa

(1)
)
3)
(4)

angedl Doh, ¥iry8 HES HH005» HQerdod o3
&hgmdd woh, g)dﬁ)&ﬁwox@ P00 050 Fowrodd) werd
BAgedS wof, DEDHYBoond H0BH Wiyl HES
angedl Doh, w8 HBS Hodon Do Fo

190. Match the following

(a)
(b)
(c)
(d)

List—I
Metpally
Pembarthi
Gadwal
Hyderabad

S (808 B 2SDHoWodw

(2)
(b)
(c)

LA |
Bo&HO
™0 g

ﬁw’sm

(d) Zrdoerd

(1)
2)
3)
(4)

@ b (© @
i) G (@v) (i)
vy G @ (i)
@ @) G (@)
(i) Gv) () ()

List—II
(i) Bronze works
(i1) Khadi
(i1i) Bangles
(iv) Handloom Sarees

s 11
(1) 186 >
(i) a8
(iil) oreen

(iv) 35 dSe»
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191. The limited safeguards of employment under mulki would remain in operation in the Telangana
Region upto the end of December 1980. In the case of Hyderabad and Secunderabad these

safeguards would continue only upto the end of December 1977. According to
(1) Six Point Formula (2) Eight Point Formula
(3) All Party Accord (4) Five Point Formula

&g SoHod® Boome (rozrd8 Hnd) Erdod® 0308 & SEmen 1980 %o & &do
DHO HEH @HS® Gowrow. 570 HrEorerd HOn B8o(Eerd ok JESINeS® dr e
©d 1977 &0 & drdo DD J8H éPLéﬁo wHos® Gsowron @ BOD DKo

(1) =& drero DEE0 (2) on dor@ dP¥o

(3) ©Po BE adyodo (4) SoWdrE DEKo

192. Which one of the statements is not correct ?
(1) Article 371-‘D’ facilitated for the Zonal system in Andhra Pradesh.

(2) Jayabharat Reddy Committee was appointed in 1984 to enquire into the irregularities under

the six point formula and Presidential order.
(3) Kamalanathan and Umapathi Rao were the members in the officers committee.

(4) Abdul Khadar, a senior [.A.S. officer was appointed in 1985 to scruitinize the officers

committee report.
& (300 EgEwed® O HOTHIO 5%

(1) ©0&S 371 & (v5°8d0 wo(§ (TFS® &3S HgBY AT Y&0 ©0ow0d

(2) ©8 dorEro DEEo 00 PR INS S g GYOPIII Jerdn BAB0wE wo(g
(535 (Be&ghn 2aderdE T E08D 19846 JosodoDod

(3) EHooTES 0N SITHBTNL WHDEY ENG S Dehges

4) 6:9%37053 E0¢ ©0H0DVS ITHED H68DoBowE 1985¢° ® 26 grib oo 200056
0.0.00 @50 Jd%NoT T
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A

193. Match the following

(2)

(b)
(©)
(d)

List-1
My Telugu Roots : Telangana
State demand — A Bhasmasura wish
Battleground of Telangana
The fall and rise of Telangana

Telangana—United Andhra Illusions

& (800 TS wSEHEEHE®

(a)

(b)
(c)
(d)

(1)
2)
)
4)

a1
o B Srdy : Boomrn Q&
&dr0&- FIyhd IR
ws&?e’i_ [0l «o Swomres
& S wobk TO ©d Swors
Bomrn-05NIBE wo(d aeugEs)
(@ b ( (@
@iv) ()  @{) (i)
i) @) () (@v)
i (Gv) (@) (i)
@v) @) @) o @)

List-11
(i) Nalamotu Chakravarthy

(i1)) Gautham Pingali
(ii1) Venugopal
(iv) Kingshuk Nag

R AR | |
(1) So3rd I EH0

(i) A°go Dor®
(iil)) SeofrS
(iv) 8ohaoE oA

194. Arrange the following statements in a chronological order

(2)
(b)
(©)
(d)

Declaration of K.Chandrashekar Rao Fast unto death.

Telangana March to Necklace Road.

Prof. M. Kodand Ram was nominated as convenor for Joint Action Committee (JAC).

Suspension of Telugu Desham Party from Joint Action Committee.

& (800 & (Bdordihbwon el yod
3. Fo(BRE ord) wHdn ITTERE (HELD

(a)
(b)
(c)
(d)
(1)

)

380 8°6 8 SBoorrm %76

(& 8°G0doro emonod e¥ S Ed (JAC) 8358 m JosrHossn
220008 ©E S ENG $00d Booh THo r§ TRyl

(@), (d), (b), (¢)
(b), (a), (d), (c)

(2) (@), (c), (b),(d)
4 (@), (c), (d), (b)
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195. Match the following

(a)
(b)
(©)
(d)

List-I
Goreti Venkanna
Nandini Sidha Reddy
Guda Anjaiah
Gummadi Vittal Rao

S8 (808 &°Q 22BN odw

(a)
(b)
(c)
(d)

(1)
2)
)
(4)

Eat Al |
53¢ BEERSA
$089 Do TG
febate @o&oﬁog
HH & DES o)

@ b @© (@
(i) (@Gv) (i) (i)
i) Gv) (1) (D)
vy (@) () (i)
(i) i) (G (@v)

List-11

(1) Ayyoniva Nuvu Avvoniva

(il)) Amma Telanganama

GET IT ON
Google Play

(iii) Palle Kanneeru Pedu Thondhi

(iv) “Nageti Sallalo Na Telangana

Rae-11

() oT/orgds HodHg osgdS

(i) o) Bvomrnddr)..
(i) B £ % k8 0d

(iv) "ohE FE¥HS' > Soome...”

196. Match the following

(2)
(b)
(©)
(d)

List-1
Dimsa
Adrak ke Punje
Perini Dance
Pittala Dora

& (808 7D wSHShdn

(a)
(b)
(c)
(d)

(1)
2)
)
(4)

eI
AR
o35 B Ho&
08 @)
Pho &Y
(@ (b () (d)
i) (1) (i) (>{v)
@ Gy ) (iv)
i) (@G @{)  (@1v)
(iv) (i) (1) (i)

List-11
(i) Babban Khan
(i) Gonds
(iii) Fastest dance form

(iv) Budiga Jangalu

D11
(1) NS
(i) APoddoen

(iil) SAHoE D Sysgd

(iv) o&¥ eomren
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197. Match the following

List-1
(a) Ramlingeshwara Temple
(b) Erakeshwara Temple
(c) Sita Ramaswamy Temple
(d) Venugopalaswamy Temple
Ss (800 TG wSEDHSWD0

-1
(a) o0 THE wedho
(b) AETHS wodo
(c) Derorodrgdy wodko
(d) 38@05531’@3“530 BOO30

@ b (© @
(H Gv) G (@) (i)
2 @) @OH G @Gv)
G) (v) (@) (@) (D)
4 @ @) G (@Gv)

GET IT ON
Google Play

List-11
(i) Dichipalli
(il)) Kondaparthi
(ii1) Pillalamarri
(iv) Nandikandi

a1 |
(i) &0
(i1) §°0&Do
(iil) DyoHd
(iv) Sobgod

198.

Match the following
List-I

(a) Mannemkonda Jatara
(b) Durajpally Jatara
(c) Siddulagutta Jatara
(d) Singaraya Jatara
& 1808 TG 2SEHLWDH0

Rl |
(a) H9I3)o80d &y
(b) oD rEd
(€) P&y wrdd
(d) DoKorods el

@ G @© @
(D @Gy @) @ (@Gv)
(2) Gi) @Gv) (@) ()
(3) @Gv) a) @) @)
4 @O G (Gv) (i)

List-11
(i) Laxmi Narasihma Swamy
(i) Siddeshwara Swamy
(i1i)) Anjaneya Swamy

(iv) Lingamanthula Swamy

b | |
(1) @ﬁ& STCRSICRSLESAISIS
(ii) ?o_%’"%sdﬁ"’sé’ba
(iii) @o=TasoIrgdd
(iv) ©oifdoodoroTga
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199. Match the following

(a)
(b)
(©)
(d)

List-I

9t month of Islamic calendar

Moharram

A

List-11

(i) Prophet Mohmmad’s birthday

(ii) Bakrid

10th day of 12th month of Islamic calendar (iii) Ramjan

Milad-un-Nabi

Ss (800 FrEQ 2SEDHBWD0

(a)
(b)
(c)

(d)

(1)
2)
)
(4)

PO bR |

a@mé)og 51560665 5"3)0&6526 5S)

Foee (8o

a@*’&)og S“S@O(‘és 333106526

TS HE8d &
DerE &S B9

(@ () () (d)
@ (1) (@av) (i)
(i)  (iv) (i) (1)
i (Gv) (@) (i)
(iv) (i) (1) (i)

(iv) Shiyas

eIl
() DHoHey8 (d8 =d880

(i) (86

(iii) SoeS

(1v) % oren

GET IT ON
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200. Which of the following is not correctly matched ?
Lambadi Hakkula Porata Samithi — Bellaiah Naik

(1)
2)
3)
(4)

S (800 aS® DO VOTND @l 52

(1)
2)
3)
(4)

Gouda Jana Hakkula Porata Samithi — Elkakatte Vijayakumar Goud
Vaddera Hakkula Porata Samithi — Dubbagatla Narsing Rao

Chakali Hakkula Porata Samithi — Poosapally Saidulu

[SYeFAate) Zy°§ozr® Ford) DS — Bgoﬁos 0508

T6 a2l ¥y o Ford VNS — JoiP 250856 &

JSBE P& o JFPord DB — Ko A& S0yodor)

o8O XP§02)_® Fore D& —

05O o

™ o
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D - Deleted. One mark will be added to all the candidates.

185

186
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189
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191

192

193

194

195

196

197

198

199

200
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The objections on the preliminary key, if any, may be sent to the e-mail id: keyobjections_si@tslprb.in on or

before 21-04-2016 5.00PM.
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